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ACCOUNTANCY
HT-1
PART -1
(sTrts mee)
(Subjective Questions)
ACADEMIC/OPEN
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[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)
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gE-U A WA | faia B A (STets) T AR (FRgETS)| e @ aN An @ g
% IW B ATH II-Ydl 7 G 1 IH-0 & A1 GOE AN BN I ed SuX-gRas
3 a Rar stom @ AF-IL & [0 el @ O qe H aHd Rar Som srig wder s
B ¥ O geT [@ GOt Bl A1 9S-0e R Stem

-1 & 999-09 § A 19 (5 + 7 + 7) U T 911 & O9-G 7 F 44 (16 + 14 + 14)
s

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 19 (5 + 7 + 7) and of Part-II are
44 (16 + 14 + 14).

o PY T F A B G F 59 FoT9H H PR g 8 7o 497 19 (5 + T +7) &

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 19 (S + 7 + 7) questions.
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(2) 5608/(Set : A)
T97-Y5 7 qle &1 @ AT 79 T4 #S TR T @ B G F-YEIH % FI-IT T [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgar T To FIT-UT T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 Gvead F o [ 9T U 7 T8l 8, qOer % IYUT 59
G § 25 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 7397 -
() T8 g97-97 T 9 F e & -
G — O : STTHFE] T TF FEET] Gy
T - § : A @7 9T AT [l E Ry
9T - - FGRHT AGHT]
(i) T - & oifard & wdersf o smT @ YT - F T T - T F @ BE @ GT
&T &Y/
(iii) TH G97 BT BT 81 OB 9T F 7F IqH GH7 [T 7T &
(iv) 597 &1 5 # 3<% g FTa= &
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(3) 5608/(Set : A)
General Instructions :
(i)  This question paper is divided into three Parts :
Part — A : Not for Profit Organizations & Partnership Accounts.
Part - B: Company Accounts & Analysis of Financial Statements.
Part — C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Internal choice is available in Question No. 5.
| -
PART - A
(SRl HET 6 AEEN @)

(Not for Profit Organizations & Partnership Accounts)

1. ®eq 39 3 ¥ 2011-12 § 80,000 Fo T= B Wt Ui o7 oMM 7 T ¥
(i) 1-4-2011 & FHRAT F=T 5,200 Fo
(i) 1-4-2011 @ AW 94 =1 2,400 Fol
(iii) 31-3-2012 H SHAT T 4,800 Fo
(iv) 31-3-2012 Fi AF I F=T 700 ol
AF-g G H T &l el TR hiST bl T ? 2
Sports Club had received ¥ 80,000 as subscription in 2011-12. Further
information is :
(i) Subscription due but not received on 1-4-2011 ¥ 5,200.
(ii) Subscription received in advance on 1-4-2011 ¥ 2,400.
(iii) Subscription due but not received on 31-3-2012 ¥ 4,800.
(iv) Subscription received in advance on 31-3-2012 ¥ 700.
What amount should be credited to Income and Expenditure Account as

subscription ?

2. Wi g GO @d 9 A 9 =9 Td H Hi3 g7 S i 2

Give any four points of distinction between Receipts and Payment Account
and Income and Expenditure Account.

5608/(Set : A) /| P.T.O.
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(4) 5608/(Set : A)

3. 1-4-2018 & UH B @ TURE 75,000 Fo i FEH 5,000 Fo kg B M T
R % Sl @A & AT 60,000 Fo © X M Rod &1 Tod A W 21 o &
A X 10% o1 1 &l @i fed 4 ast & o @ & SR W 24,000 Fo Tedithd
P T FH H AT AN T B P 2
On 1-4-2018 firm had assets of ¥ 75,000 including cash ¥ 5,000. The partners
Capital Account showed a balance of ¥ 60,000 and reserve constituted the rest.
Normal rate of return is 10% and the goodwill of the firm is valued at ¥ 24,000
at 4 years purchase of superprofits, find the average profits of the firm.

4. R G T T @]t 7 Sfav qaEy 2

Distinguish between 'Fixed Capital' and 'Fluctuating Capital' Accounts.

5. ‘&7 g ‘T GERR o9 & 3: 17 dieq & e Rafy o 31-3-18 &1 77 w1

P %o R o
SRELS 4,15,000 | §% § % 2,65,000
Retd o 40,000 | T fort 30,000
TSl @t ¢ IR 1,60,000
‘o 3,00,000 | ©f® 2,00,000
q 1,60,000 | e 10,000
g ud s 2,50,000
9,15,000 9,15,000

1 30, 2018 & ‘@ & 1/4 9N & T WEREN § F1 e/l W yaer far @

(@) @ % 1,00,000 Gt 7 % 50,000 @AM & &4 § e {6, e & et &
1/2 9F 97 9§’ &0 et foran o ®

(b) i g HrGER ® 10% | HH a1 T 9 5% WEM g R0 & [ 3eR 9 0
foetl 9X SR T

() 9 9 20% & TF T B

(d) % 10,000 & TF TRE & Sk &fd & AW & ¢ &= =@ m

(€) ¥ 6,500 % TH HE S AR H EA B 98 e AE e R IHE @i
fepan I

STEATE @I g913U 9 Refe faawer s=mEu) 6
5608/(Set : A)/ |
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(5)

5608/(Set : A)

'A' and 'B' share profits in 3 : 1. Their Balance Sheet as at March 31, 2018 was

as follows :

Liabilities Rs. Assets Rs.
Creditors 4,15,000 | Cash at Bank 2,65,000
Reserve Fund 40,000 | Bills Receivable 30,000
Capital Account : Debtors 1,60,000

‘A 3,00,000 | Stock 2,00,000
‘B’ 1,60,000 | Fixtures 10,000
Land and Building 2,50,000

9,15,000 9,15,000

On April 1, 2018 'C' was admitted into partnership for 1/4 share on the

following terms :

(a) 'C' pays? 1,00,000 as his capital and ¥ 50,000 for Goodwill. Half of which
is to be withdrawn by 'A' and 'B'.

(b) Stock and Fixture be reduced by 10% and 5% provision for doubtful debts

be created on Debtors and Bill Receivable.

(c) Value of land and building be increased by 20%.

(d) A liability to the extent of ¥ 10,000 should be created as a claim for

damages.

(e) An item of ¥ 6,500 included in creditors is not likely to be claimed and

should be written back.

Prepare necessary Accounts and prepare Balance Sheet.

5608/(Set: A) /|
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(6) 5608/(Set : A)

T
OR
HERR & AIHY T B W FNREl G el B e @ B S ® 7
IS Hal Bl Heldl § JTHiH @l SEy 6

Why are assets and liabilities revalued at the time of retirement of a Partner ?
Prepare Revaluation Account with the help of an example by taking imaginary
figures.

T -9
PART - B
(O @ T foxiE faere @ i)
(Company Accounts & Analysis of Financial Statements)
6. 'A' [0 I 7 'B' fio & | T 5,40,000 B THRI &1 H A A’ o ¥ 10% o
% 100 ¥ FOT9E & R 20% W ) R sa afaftedt 3 2

'A' Ltd. Co. purchased assets from 'B' Ltd. Co. for ¥ 5,40,000. 'A' Ltd. issued
10% debenture of ¥ 100 each at 20% premium. Pass journal entries.

7. B o 7 635, 9% O T 500 U korae & fRifta fbw ow wfaftedt 1 ol ot
% P 5% B2 W, AR e 10% W ®) B an 2

'B' Ltd. issued 635, 9% debentures of ¥ 500 each. Pass necessary journal
entries if debentures were issued at 5% discount, redeemable at 10%
premium.

8. ‘dfm Toi T ‘Toirm dow § F ofw © 7 2

State the differences between 'Reserve Capital' and 'Capital Reserve'.

9. IS B & F H T Faftedr BT AT T Hr RIS diftem W oA () WfEw
e el foedr T, (i) ST e w@m 2

Write journal entries of Share Forfeiture when the shares have been issued at
premium and when the amount of premium : (i) not received, (ii) received.

5608/(Set : A)/ |
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(7) 5608/(Set : A)

10. 7 Rfo 3 &M o @ @=R@l T 25,00,000 X aR@ T 6,00,000 & oW &
yied & ®9 & 10,000 FHaT S T 100 Wi HT 10% SWem w FERE e ok
% 11,00,000 ¥& g & BN AW [T T SHa Hared HX 2

King Ltd. took over assets of ¥ 25,00,000 and liabilities of ¥ 6,00,000 of Queen

Ltd.

King Ltd. paid the purchase consideration by issuing 10,000 Equity

Shares of ¥ 100 each at a premium of 10% and I 11,00,000 by Bank Draft.

Pass journal entries.
11. ‘Feil & 9 Qs e 5§ S & 2

What is the difference between 'Private Company' and 'Public Company' ?

12. (a)
(b)
(a)
(b)

5608/(Set :

'Y' o 3 300 g1 T 10 i Sfsr, §W T T 7 U ST B BT, TSell AT T 2 B
TAE T 8W W & fomm &8 & 100 ofeft & ¢ foe ¥ 6 s g o
Y f&ar Tm

g Fife ofsl @ St & forg S Sfaftedt #3 2

'Z' fffo 9 600 S T 10 Ufey A &1 &Y, G&eil e X 3 Uil AT B PN A B
UM % HROT {6, qEl e % 2 ufd oS el T AME R e 39 & 200 3
% 8 9 gisr Qe &l % 7 9fd ofsr H g: FRifee & Rar mm

g rifa oistt @ o=t & fog s+ ofaftedt &1 2

'Y' Ltd. forfeited 300 shares of ¥ 10 each, ¥ 7 called up, for non-payment
of Ist call of ¥ 2 per share. Out of these, 100 shares were immediately

re-issued at T 6 per share.
Pass the necessary journal entries for forfeiture and reissue of Shares.

Z Ltd. forfeited 600 shares of ¥ 10 each on which Ist call of ¥ 3 per share
was not received, the IInd call of ¥ 2 per share has not yet been called.

Out of these, 200 shares were reissued as < 8 paid up for ¥ 7 per share.

Pass the necessary journal entries for forfeiture and reissue of Shares.

A)/1 P.T.O.
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(8) 5608/(Set : A)
qMT -9
PART - C
(Fgeliga i)

(Computerized Accounting)

6. FYUFA ATHT § AT F1 GO & 7 2

What do you mean by Computerized Accounting ?

7. FYFA q@iHT B & A SR 2

Write two features of Computerized Accounting System.

8. ReH® TEsdr 1 & ? 2

What is Referential Integrity ?

9. GUI W U% dfrg A g 2

Write a short note on GUI (Graphical User Interface).

10. MS-Access & 3f 3@gqd @ 2

Give two components of MS-Access.

11. OEde & g FIvan saEy 2

Give two features of Electronic Spreadsheet.

12. &0 &1 2 ? F0 99 @) R e sasw 4

What is Query ? Describe the various methods of creating Query.

5608/(Set : A)/ |
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AT
ACCOUNTANCY
HT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FY T B G B G B 59 99707 JRT g% 16 T 797 44 (16 + 14 + 14) &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 44 (16 + 14 + 14) questions.

o gheEreff 7T T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUY 37 @ (@ 98 FrRad &Y I [ geT9F {7 T &l 8, TOEr # IIT 59
G § g 4 @@ w@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 7397 -
(i) T8 Fo7-97 T 9 7 e & -
G — O : STTHE] TeET TF FEaT] Gy
T - § : YA GI7 9T AT [l E Ry

9T - - FGRHT AGHT]
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(2) 5608/(Set : A)

(i) T - oF Sffard & e v F°T & AT - § T AT - T F A FHE T AT

&7 &1/
(iii) GH FIT BT BT 81 JA%F J97 1 9% F &1 @&l IV A Fav-GhRawr 7 kg

General Instructions :

(i)  This question paper is divided into three Parts :

Part - A : Not for Profit Organizations & Partnership Accounts.

Part - B: Company Accounts & Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(i) All questions are to be attempted. Each question carries 1 mark. Write the
correct answer in your answer-book.

| - A
PART - A
(T HeTd Ud wEErd @)
(Not for Profit Organizations & Partnership Accounts)
1. 9 9 &G Gl a0 & ¢ 1
(A) TR o eI (B) al
(C) Y& ™ (D) Ui @
Income and Expenditure Account reveals :
(A) Surplus or Deficiency (B) Cash in Hand
(C) Net Profit (D) Capital Account
2. GEREN da@ & o9E § T W AW O 1
(A) 5% Hicay (B) 6% wfqay
(C) 12% Sicras (D) T&dl ST &1 FEeM el
In the absence of Partnership deed, the interest is allowed on Partner's Capital :
(A) @ 5% p. a. (B) @ 6% p. a.
(C) @ 12% p. a. (D) No interest is allowed

5608/(Set : A)/ I
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3. UEEN 999 9
A)  IfvEd ? (B) fafea & arfvard ®
(C) oI & 3 (D) 378 ¥ Hig 7

Forming a Partnership deed is :

(A) Mandatory (B)
(C) Not Mandatory (D) None of the above

. ot @mt W e iy fpar s
(A) wH-gN @ |

(B) WH-gIv Ao &

(C) WBRR ot @ &

(D) T & P& el

Interest on Partner's Capitals will be debited to :

(A) Profit and Loss Account

(B) Profit and Loss Appropriation Account

(C) Partners Capital Account

(D) None of the above

5608/(Set : A)

Mandatory in writing

.90, T AR W A HNBA: 3 : 2 : 1 B U § sled A1 Ie Ao § et @
2:2: 17 dfed @1 Fofa fomm ae-eiie e o § Sede W e @EER E O

afﬂvrﬁm'$%~

(A) @ e —, Wi ‘&’ qﬁﬁ @’
30 30

(B) Wi ‘o =, wiftq ‘&’ J; , &N |’ 3
30 30° 30

(C) I ‘&7 — qﬁH F— qﬁa q =
30

(D) Wi a'—— g & —, &/ 1
15 10

5608/(Set : A)/ I
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(4) 5608/(Set : A)

'A', 'B' and 'C' sharing profit and loss in the ratio of 3 : 2 : 1. The partners
decide to share future profit and loss in the ratio of 2 : 2 : 1. Each Partner's
gain or sacrifice due to change in ratio will be :

(A) Sacrifice 'A' i, Gain 'B' i, Gain 'C' L
30 30 30
(B) Gain 'A' —, Gain 'B' —, Sacrifice 'C' %
(C) Sacrifice 'A' 30’ Gain 'B' —, Gain 'C'—
(D) Gain 'A' —, Gain 'B' —, Sacrifice 'C' %
6. T e TR &l w=fT & 7 1
(A) TIfT TH FIANE TR L (B) T U = TR B
(C) Tfy % = aeared (D) Afd T ST &9 8
Goodwill is what type of assets ?
(A) Goodwill is a fictitious assets (B) Goodwill is a current assets
(C) Goodwill is a wasting assets (D) Goodwill is an intangible assets
7. QU U - 1
(A) I ST — T ST (B) U STIUT — AT ST

(C) YU ST — A9 Wi SFgur (D) 9 W I — YT YU
Sacrificing ratio :
(A) New Ratio — Old Ratio (B) Old Ratio — New Ratio

(C) Old Ratio — Gaining Ratio (D) Gaining Ratio — Old Ratio

5608/(Set : A)/ I
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(5) 5608/(Set : A)

8. R A GEER @ THE § A 8, A 98 [N WEHER & A S 1
(A) - (B) YU o e orgu §
(C) T ar fwre ergura & (D) Tt orgua #

If the new partner brings his share of goodwill in cash, it will be shared by old
partners in :

(A) Ratio of sacrifice (B) Old profit sharing ratio
(C) New profit sharing ratio (D) In capital ratio
9. I EER H WEE § yaAqr fREr o R 1

(A) TH HEEN & GEHid 8

(B) S RIS Hl HeAfd

(C) |l QN |EERI &l Hedla &

(D) 2/3 QT @EER & Heuid |

A new partner may be admitted into a partnership :
(A) with the consent of any one partner

(B) with the consent of majority of partners

(C) with the consent of all old partners

(D) with the consent of 2/3rd of old partners

10. TERER SV ‘@ A H 2 : 1 F gied § @ H 1/3 90 o0 y@er @ T@r A

feTST STUr & &R 7 1
A) 2:1:1 B) 3:1:2
) 4:2:3 D) 2:1:3

5608/(Set : A)/ I P.T.0O.
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(6) 5608/(Set : A)

'A' and 'B' sharing profit in 2 : 1. They admit 'C' as a partner for 1/3 share. The
new ratio will be :

A 2:1:1 B) 3:1:2
(C) 4:2:3 D) 2:1:3
11. JTHedish @ ¢ 1
(A)  aE(E T (B) =TT @
(C) AR ST (D) @R @

Revaluation Account is a :

(A) Real Account (B) Personal Account
(C) Nominal Account (D) Asset Account
12, ¥EER % 99-FE9 & 999 @ & G @ 7 siec B o e 1
(A) SR T P A TEER & (B) & U WEER &
(C) ¥ HEREN @ (D) I8 ¥ Fis 7ol
On retirement of a partner, goodwill will be credited to the Capital Account of :
(A) Retiring Partners (B) Remaining Partners
(C) All Partners (D) None of the above
13. ‘&7, ‘¥ 9 ‘W HERR ¥ B FHAT: %:%:% ¥ dfed 81 HRRR T & AIH T HH
QX A1 A A YU 8T 1
(A) 2:4 B) 1:2
1.1
< 2:1 (D) ZE

5608/(Set : A)/ I
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(7) 5608/(Set : A)

'A', 'B' and 'C' are partners sharing profits in the ratio of % : % : % New ratio on
the retirement of 'B' will be :
A 2:4 B) 1:2
1 1
C) 2:1 D) —:—
(©) e >
14. TEEN & AGHE T6U & THT G99 A9 d &M B q@r 6d Febr e ? 1

(A) T WEERI & QU g H shise

(B) WRRRI & ot @ # 2ffe, [ U §

(C) ¥ 5T BRI & Goff @) & U orgua § Bfee
(D) 9 3L GEERI & WA oTud & Gt @ 7 #ise

What treatment is made of accumulated profits and losses on the retirement of
a partner ?

(A) Credited to all partners capital account in old ratio

(B) Debited to all partners capital account in old ratio

(C) Credited to remaining partners capital account in new ratio

(D) Credited to remaining partners capital account in gaining ratio
15. ‘& &R ‘T HEER qW H FAL: 2 : 3 AYIT F ed W H 1/5 9N & fow wwE

§ yaq fen, S i o | STO QU T T T S e Sy S i 1

(A) 1:3:3 B) 3:1:1

) 2:2:1 D) 1:3:1

'A' and 'B' are partners sharing profits & losses in the ratio of 2 : 3. 'C' is

admitted for 1/5 share which he gets its wholly from 'A'. The new profit
sharing ratio after C's admission will be :

(A) 1:3:3 B) 3:1:1
) 2:2:1 D) 1:3:1
5608/(Set : A)/ I P.T.O.
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(8) 5608/(Set : A)
16. 'X' AR 'Y HERR @ # 3 : 2 & dicd q1 'Z' H GEE A @T W AN TIN5

FIOTY Al 741 A1 Ao U 9:7 : 4% ¢ 1
(a) 3:1 (B) 3:2
C) 1:3 D) 9:7

'X' and 'Y' are partners sharing profits in the ratio of 3 : 2. 'Z' is admitted as a
partner. Calculate sacrificing ratio if new profit sharing ratiois9:7 : 4 :

(A) 3:1 B) 3:2
€ 1:3 (D) 9:7
T -9
PART - B
(e w o R R @ )
(Company Accounts & Analysis of Financial Statements)
17. FOH § & 1 & Bl @ 1
(A) i (B) ST
(C) wmit (D) T
The liability of members of a Company is :
(A) Limited (B) Unlimited
(C) Stable (D) Fluctuating
18. FA & T HIIH B eld & ¢ 1
(A) TR (B) € Hed
(C) &HaT SR (D) ROTOEET
Who are the real owners of a Company ?
(A) Government (B) Board of Directors
(C) Equity shareholders (D) Debentureholders
19. SAAET FHI | T WS FQ © 1
(A) =S (B) HHIIN
(C) <™ (D) SIS

5608/(Set : A)/ I

Downloaded from cclchapter.com



20.

21.

22.

23.

(9)

Shareholders receive from the Company :

5608/(Set : A)

(A) Interest (B) Commission

(C) Profit (D) Dividend

dfert ot fore O & AT B 7 1
INEE LR (B) M &l T il &

() ol we (D) 1 ¥ T G A

Reserve Capital is a part of :

(A) Called up Capital (B) Paid up Capital

(C) Capital Reserve (D) Uncalled Capital

S B B YEAT B o, HEAT S & - 1
(A) e (B) SEREFX

(C) M (D) EAERs

Persons who start a company are called :

(A) Shareholders (B) Directors

(C) Promoters (D) Auditors

T F & AR, B b 6@ 8 W S &l & qMg Sl © 1
(A) 6% dferas (B) 10% Siqay

(C) 5% wfad (D) 12% Hfeas

Interest on Calls in arrears is charged according to Table F at :

(A) 6% p. a. B) 10% p. a.

(C) 5% p. a. D) 12% p. a.

AR it WX i A A 1
(A) SAgEt # S S @ (B) SASTgS & HeR S 3

(C) =iy 9&r § a<idl &l & (D) 9T 9 A% 9§ & S e

5608/(Set : A)/ I
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(10) 5608/(Set : A)

Amount of Calls in Advance is :
(A) Added to Share Capital

(B) Deducted from Share Capital
(C) Shown on the Assets side

(D) Shown on the Equity & Liabilities side

24. S FF &S TR BT A E 1
(A) LI &N X
(B) T ¥ FegiRg & W
() fomm feiRg W
(D) & & #K Tl
Zero Coupon Bonds are issued :
(A) at zero interest rate
(B) with specified rate of interest
(C) without specified rate of interest

(D) None of these

25. FAE & GO W RO I AR AGH H AN © 1
(A) §IE & (B) B = &
(C) @HaT ST & &t (D) &HAT ST & o1&
On liquidation of company, principal amount of debentures is returned :
(A) First of all (B) Last of all
(C) Before Equity Capital (D) After Equity Capital

5608/(Set : A)/ I

Downloaded from cclchapter.com



(11) 5608/(Set : A)

26. FIEER T 1
(A) ! & HiiwD (B) Tl & TEH
(C) HT & TR (D) A B FHEY
Debenture holders are :
(A) Owners of the Company (B) Customers of the Company
(C) Creditors of the Company (D) Promoters of the Company
27. TG THEED: T B oo R B 1
(A) G (B) g
(C) i &Y | Ferd (D) oMY g
Debentures are usually ............. a company assets.
(A) Secured (B) Unsecured
(C) Partly Secured (D) Half Secured
28. RO Y T S Tl § 1
(A) TTHE B T&A

(B) Tl & STaEl oY HiIhd & daal

(C) Wed® viqid & &

(D) 99 & fpel & fo@ ot

Debentures of a Company can be issued :
(A) For Cash

(B) For consideration other than cash
(C) As a collateral security

(D) Any of the above

5608/(Set : A)/ Il P.T.O.
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29. 3T FOTGEN Pl TGE H W L AW Pl ST [l A & 1
(A) 9HMT G99 | (B) wmw-gI faaver &
(C) Uoirm "= # (D) OO @
Profit on cancellation of own debentures is transferred to :
(A) General Reserve (B) Statement of Profit and Loss
(C) Capital Reserve (D) Debentures Account
30. T FOHl & MET B A& RO NEF G B SR [ @A A B S e 7 1
(A) TN de En | (B) 9MM &=9 @ A
(C) THfeT ®vg @ # (D) @™ J & faawer §

Where is 'Debenture Redemption Reserve' transferred after the redemption of
all debentures ?

(A) Capital Reserve Account (B) General Reserve Account
(C) Sinking Fund Account (D) Statement of Profit and Loss
i -9
PART - C
(et aiw)
(Computerized Accounting)
17. TR e % [T EH B =R 1
(A) T HT (B) ST
(C) @ # (D) ™ & a+f
A software must be easy to ............. .
(A) Install (B) Adapt
(C) Understand (D) All of the above
18. WX A% HIWAW & 1 a9 ¢ 7 1
(A) TI-IN e} ¥ (B) %Y AN & 2
(C) ST i I= YOI © (D) 9 | FE &

5608/(Set : A)/ I
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What is the advantage of Tailor made Software ?
(A) These are ready-made software  (B) Low cost

(C) High secrecy of data (D) None of the above

19. HGElFd dEied B Qv ¥ ? 1
(A) T B €WK BT
(B) el RO TR &
(C) T @il & &
(D) S @l
What are the features of Computerized Accounting System ?
(A) Storage of accounting data
(B) Instantly produces different reports
(C) Group of different accounts

(D) All of the above

20. AGHT AT B AT § T B T 5T al W e Rar S g 7 1
(A) S (B)  STgpad
(C) vEed 1 faeard (D) (A) 3 (B) =t

What are the factors to be considered while using accounting software ?

(A) Flexibility (B) Adaptability
(C) Interest of Management (D) Both (A) and (B)
21. ST : ]
(A) o (B) T B qE
(©) (A) ST (B) A (D) FH & F T
5608/(Set : A)/ 1l P.T.O.
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Data is :
(A) Information (B)
(C) Both (A) and (B) (D)

22. WHATE I b WA

(A) =3 (B)
(©) (A) ST (B) A (D)
The result of processed information is :

(A) Input (B)
(C) Both (A) and (B) (D)

23. FAG T P @AW ©

(A) SQL fafy (B)
(C) RSTfafy (D)

The method to prepare a query is :
(A) SQL method (B)

(C) RST method (D)

5608/(Set

Collection of facts

None of these

3cge
T | B T

Output

None of these

JHL fafy
DBH fafy

JHL method

DBH method

24. T § -8 &Y F TR fhd I | &S & T B & QR S © 7

(A) PPMT (B)

(C) FAPM (D)

IPMT

T | B T

- A)

Which function will be used for calculating interest included in instalment of a

loan ?
(A) PPMT (B)
(C) FAPM (D)

5608/(Set : A)/ I
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25.

26.

27.

28.

(15) 5608/(Set : A)

Al, A2, A3 B & I¢g &I STHI XA B YA A8 7 1
(A) Sum = (Al+ A2 + A3) (B) Sum (A1, A2, A3)

(C) =Sum (Al: A3) (D) T 9 %5 -l

What is the formula for adding the value of cell A1, A2, A37?

(A) Sum = (Al + A2 + A3) (B) Sum (A1, A2, A3)

(C) =Sum (Al : A3) (D) None of these

Brg i & o -1 e e St § 7 1
(A) SLN (B) PRF

(C) DUD (D) LTF

Which function is used to calculate depreciation ?

(A) SLN (B) PRF
(C) DUD (D) LTF

HIF-G1 G ToaT & 7 1
(A) = (10 + 15) (B) = (B7 *B1)

(C) (B7 + 14) (D) 14+ 15

Which formula is incorrect ?

(A) = (10 + 15) (B) = (B7 * Bl)

(C) (B7 + 14) (D) 14 + 15

BH-A1 e Tl 6 9 SRl § & AT Hi STerT R & 7 1
(A) & (B) @HI-I

(C) fam (D) ®w

Which symbol separates the cell addresses of the first cell and the last cell in
the given range ?

(A) Comma (B) Semi-colon
(C) Period (D) Colon
5608/(Set : A)/ 1l P.T.O.
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29. 3q <M & WA A G B AN HA Foar S FHa ©

(A) S&ffd 99 g (B) T &

(C) R 3w (D) |fE e fheex &

Formula can also be copied using this option :

(A) AutoSum (B) Fill

(C) Clear (D) Sort and Filter
30. I § FIF-G1 & A H ARAH & § ¢

() = (B) wie

(©) Preee (D) s

This area is the actual area of the chart :

(A) Chart (B) Plot

(C) Gridlines (D) Legend

5608/(Set : A)/ I
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CLASS : 12th (Sr. Secondary) Code No. 5608
Series : SS-April/2022
Roll No. SET : B

AT

ACCOUNTANCY
HT-1
PART -1
(sTrts mee)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

g : 21 g¢] [ g% : 60 (-1 : 30, AFHII : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

gE-U A WA | faia B A (STets) T AR (FRgETS)| e @ aN An @ g
% IW B ATH II-Ydl 7 G 1 IH-0 & A1 GOE AN BN I ed SuX-gRas
3 a Rar stom @ AF-IL & [0 el @ O qe H aHd Rar Som srig wder s
B ¥ O geT [@ GOt Bl A1 9S-0e R Stem

-1 & 999-09 § A 19 (5 + 7 + 7) U T 911 & O9-G 7 F 44 (16 + 14 + 14)
s

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 19 (5 + 7 + 7) and of Part-II are
44 (16 + 14 + 14).

o PY T F A B G F 59 FoT9H H PR g 8 7o 497 19 (5 + T +7) &

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 19 (S + 7 + 7) questions.

5608/(Set : B)/ | P.T.O.
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T97-Y5 7 qle &1 @ AT 79 T4 #S TR T @ B G F-YEIH % FI-IT T [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgar T To FIT-UT T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 Gvead F o [ 9T U 7 T8l 8, qOer % IYUT 59
G § 25 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 7397 -
() T8 g97-97 T 9 F e & -
G — O : STTHFE] T TF FEET] Gy
T - § : A @7 9T AT [l E Ry
9T - - FGRHT AGHT]
(i) T - & oifard & wdersf o smT @ YT - F T T - T F @ BE @ GT
&T &Y/
(iii) TH G97 BT BT 81 OB 9T F 7F IqH GH7 [T 7T &
(iv) 597 &1 5 # 3<% g FTa= &

5608/(Set : B)/ |
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(3) 5608/(Set : B)
General Instructions :
(i)  This question paper is divided into three Parts :
Part — A : Not for Profit Organizations & Partnership Accounts.
Part - B: Company Accounts & Analysis of Financial Statements.
Part — C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Internal choice is available in Question No. 5.

| -
PART - A
(ST e T HEE @)

(Not for Profit Organizations & Partnership Accounts)

1. @Rl G g o G @t § S SaE 2

Distinguish between 'Fixed Capital' and 'Fluctuating Capital' Accounts.

2. 1-4-2018 & TH HH & @EREI 75,000 To i REH 5,000 Fo Idg d wfEd T
TERR & S @ & Q¥ 60,000 Fo & X B Rowd & T fRAr T B oo A
AR & 10% o1 B9 &l @ fUed 4 a6l & o o9 & SR W 24,000 Fo Fedithd
H I BH HB A A T BT 7 2
On 1-4-2018 firm had assets of ¥ 75,000 including cash ¥ 5,000. The partners
Capital Account showed a balance of ¥ 60,000 and reserve constituted the rest.
Normal rate of return is 10% and the goodwill of the firm is valued at ¥ 24,000
at 4 years purchase of superprofits, find the average profits of the firm.

3. W g O @d 9 9 9 =g @d | Hi3 grv A A 2

Give any four points of distinction between Receipts and Payment Account
and Income and Expenditure Account.

4 WY 399 ¥ 9§ 2011-12 § 80,000 Bo T< B W T T AN 7+ FR € :
() 1-4-2011 & FHAT I 5,200 Fol
(i) 1-4-2011 % SF G F=T 2,400 %ol

5608/(Set : B) /| P.T.O.
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(4) 5608/(Set : B)
(iii) 31-3-2012 F THEAT T 4,800 ol
(iv) 31-3-2012 i F I =T 700 ol
HAE-FF @A H =T Hl ol WA e & TE ? 2
Sports Club had received ¥ 80,000 as subscription in 2011-12. Further
information is :
(i) Subscription due but not received on 1-4-2011 ¥ 5,200.
(ii) Subscription received in advance on 1-4-2011 ¥ 2,400.
(iii) Subscription due but not received on 31-3-2012 ¥ 4,800.
(iv) Subscription received in advance on 31-3-2012 ¥ 700.
What amount should be credited to Income and Expenditure Account as

subscription ?

‘O T ‘T FEER A B 3: 1 H gieq & e Rafq fqaver 31-3-18 &l 7 TR o1 ¢

IR %o IRER o
SRELS 4,15,000 | ¥ § g 2,65,000
ESERRAS 40,000 | a7 ot 30,000
gsil @ ERELS 1,60,000
‘o 3,00,000 | €% 2,00,000
q 1,60,000 | fthergerd 10,000
g wd s 2,50,000
9,15,000 9,15,000

1 3B, 2018 &l ‘@ P 1/4 AN B T dEErd § 7 ot 9X e f&ar m

(@) ‘@ % 1,00,000 T&f T ¥ 50,000 @AM & &4 § AN 6o, ed @ =fa &
1/2 9F ‘&7 g ‘9’ g e fomm o R

(b) &fh a MrgER ® 10% & HH [HdT T 5% TEGH $od kT & [T @R 9 0
foretl 9X SR T

() M & 20% & IF T &I

(d) % 10,000 & TF TRE & Sk &fd & AW & Q&= =@ m

(€) T 6,500 F TH HE Sk AR H A 21 g W& A6 Sl R SEeR @i
ERIECI

JMEH WA T3¢ 9 Reafey faor T 6

5608/(Set : B)/ |
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5608/(Set : B)

'A' and 'B' share profits in 3 : 1. Their Balance Sheet as at March 31, 2018 was

as follows :

Liabilities Rs. Assets Rs.
Creditors 4,15,000 | Cash at Bank 2,65,000
Reserve Fund 40,000 | Bills Receivable 30,000
Capital Account : Debtors 1,60,000

‘A 3,00,000 | Stock 2,00,000
‘B’ 1,60,000 | Fixtures 10,000
Land and Building 2,50,000

9,15,000 9,15,000

On April 1, 2018 'C' was admitted into partnership for 1/4 share on the

following terms :

(a) 'C' pays? 1,00,000 as his capital and ¥ 50,000 for Goodwill. Half of which
is to be withdrawn by 'A' and 'B'.

(b) Stock and Fixture be reduced by 10% and 5% provision for doubtful debts

be created on Debtors and Bill Receivable.

(c) Value of land and building be increased by 20%.

(d) A liability to the extent of ¥ 10,000 should be created as a claim for

damages.

(e) An item of ¥ 6,500 included in creditors is not likely to be claimed and

should be written back.

Prepare necessary Accounts and prepare Balance Sheet.

5608/(Set : B) / |

P.T.0O.
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AYAT

OR
HEER & EHN T A W TR @ ARl & OTHE # S 8 7
IS Hal Bl Heldl § JTHiHT Gl SRy 6

Why are assets and liabilities revalued at the time of retirement of a Partner ?
Prepare Revaluation Account with the help of an example by taking imaginary

figures.
A -
PART - B
(o @q e fociig faaRen & fsawo)

(Company Accounts & Analysis of Financial Statements)

6. T o 7 W o @ g=i@l T 25,00,000 X &R¥@ T 6,00,000 & @ H7
Taed & ®9 & 10,000 FHaT U T 100 Wi A 10% Sftem w FERE e ek
% 11,00,000 ¥% FFE & BN AW [T T SHa Haftedr HX 2

King Ltd. took over assets of ¥ 25,00,000 and liabilities of ¥ 6,00,000 of Queen
Ltd. King Ltd. paid the purchase consideration by issuing 10,000 Equity
Shares of ¥ 100 each at a premium of 10% and ¥ 11,00,000 by Bank Draft.

Pass journal entries.
7. TN &R 9 HESE FE T A SR B 7 2
What is the difference between 'Private Company' and 'Public Company' ?

8. 'A ftTo FI 7 'B' o &I @ T 5,40,000 & THRT &1 T fHam 'A' [dfo 7 10% Roma=
Z 100 9fd o= &l i 20% Siftme @ fean sHa it &1 2

'A' Ltd. Co. purchased assets from 'B' Ltd. Co. for ¥ 5,40,000. 'A' Ltd. issued
10% debenture of ¥ 100 each at 20% premium. Pass journal entries.

5608/(Set : B)/ |
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9. 'B fdfo ¥ 635, 9% FT ¥ 500 ¥ o= § Frifta fhy @ wfaftedl &t afe For

F A 5% 82 W, SR M 10% HfEEd X [ 2 2

'B' Ltd. issued 635, 9% debentures of ¥ 500 each. Pass necessary journal

entries if debentures were issued at 5% discount, redeemable at 10%

premium.

10. wfed T @ i ded § @ o) ? 2
State the differences between 'Reserve Capital' and 'Capital Reserve'.

11. s & BT & H SHq daredr X Al s F e i w) e 8o ) stem
I et fehar T, (i) ftEE e i & 2
Write journal entries of Share Forfeiture when the shares have been issued at
premium and when the amount of premium : (i) not received, (ii) received.

12. (a) 'Y' o ¥ 300 &fer T 10 9 S FMC T, T 7 Ay A F T, TeA I 2 2 B

TAE T 8W W & fomm 8 & 100 ofeft &1 ¢ foew ¥ 6 sfd ofar o
&Y fear
g rifia oistt @ o=t & fog o+ ofaftedt &3 2

(b) 'Z' ffo § 600 A T 10 Ufey AT T &Y, G&eil T X 3 il AT B PN A B
UM % HRO {6, qE0 AT % 2 Ui oS o1l T AE R e 39 & 200 S
% 8 9 s Qe &l % 7 9 ofsr H g: PRt & Rar
g: Frifa el @ o=t & forg S sfaftear & 2

(@) 'Y' Ltd. forfeited 300 shares of ¥ 10 each, ¥ 7 called up, for non-payment
of Ist call of ¥ 2 per share. Out of these, 100 shares were immediately
re-issued at X 6 per share.

Pass the necessary journal entries for forfeiture and reissue of Shares.

(b) Z Ltd. forfeited 600 shares of ¥ 10 on which Ist call of ¥ 3 per share was
not received, the IInd call of ¥ 2 per share has not yet been called. Out of
these, 200 shares were reissued as X 8 paid up for I 7 per share.

Pass the necessary journal entries for forfeiture and reissue of Shares.
5608/(Set : B) /| P.T.O.
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qMT -9
PART - C
(Fgeliga i)

(Computerized Accounting)

6. MS-Access & 31 3aaq @ 2

Give two components of MS-Access.

7. D B g [AvaT TaEy 2

Give two features of Electronic Spreadsheet.

8. FYUFA AWHT § AT F1 G & 7 2

What do you mean by Computerized Accounting ?

9. FYUFA AT B & AT T 2

Write two features of Computerized Accounting System.

10. fHRsTem srEsdr 1 8 ? 2
What is Referential Integrity ?

11. GUI R T GG e o 2

Write a short note on GUI (Graphical User Interface).

12. &0 &1 2 ? F0 99 @ R e sasw 4

What is Query ? Describe the various methods of creating Query.

5608/(Set : B)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5608
Series : SS-April/2022
Roll No. SET : B

AT
ACCOUNTANCY
HT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FY T B G B G B 59 99707 JRT g% 16 T 797 44 (16 + 14 + 14) &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 44 (16 + 14 + 14) questions.

o gheEreff 7T T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUY 37 @ (@ 98 FrRad &Y I [ geT9F {7 T &l 8, TOEr # IIT 59
G § g 4 @@ w@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 7397 -
(i) T8 Fo7-97 T 9 7 e & -
G — O : STTHE] TeET TF FEaT] Gy
T - § : YA GI7 9T AT [l E Ry

9T - - FGRHT AGHT]

5608/(Set : B)/ I P.T.O.
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(i) T - oF Sffard & e v F°T & AT - § T AT - T F A FHE T AT

&7 &1/
(iii) GH FIT BT BT 81 JA%F J97 1 9% F &1 @&l IV A Fav-GhRawr 7 kg

General Instructions :

(i)  This question paper is divided into three Parts :

Part - A : Not for Profit Organizations & Partnership Accounts.

Part - B: Company Accounts & Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Each question carries 1 mark. Write the
correct answer in your answer-book.

T -
PART - A
(TR He ud EEEr @)
(Not for Profit Organizations & Partnership Accounts)
1. -39 @l JERid & & ¢ 1
(A) oTfRRR a1 HHI (B) g QY
(C) I& @™ (D) Gt @
Income and Expenditure Account reveals :
(A) Surplus or Deficiency (B) Cash in Hand
(C) Net Profit (D) Capital Account
2. U @ FIEE @ @ 1
(A) R G (B) dr&ides @rdl
(C) -9 @l (D) IE(Gd Td AHEE @ sl
Receipts and Payments Account is :
(A) Personal Account (B) Real Account
(C) Nominal Account (D) Real and Nominal Account Both

5608/(Set : B)/ I
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3. HEEN iU H & o HH | 9 fhaq eidd 8 =Ry ? 1
A) 2 B) 7
(C) 10 (D) 20
What should be the minimum number of persons to form partnership firm ?
(A) 2 B) 7
(€) 10 (D) 20
4. WEER €AW B ............. I el S Bl 1
(A) SifeERe
(B) UNE ar=ifad
(C) WEER & R
(D) @EE{ & A=+

Partnership deed is also called :
(A) Prospectus

(B) Article of Association

(C) Principles of Partnership
(D) Articles of Partnership

5. ¥ M STgUe : 1
(A) A0 STIUT — T ST

(B) YN STIUI — AR ST

(C) T ST — YT ST

(D) R ST - T S
Gaining Ratio :

(A) New Ratio — Sacrificing Ratio
(B) Old Ratio — Sacrificing Ratio
(C) New Ratio — Old Ratio

(D) Old Ratio — New Ratio

5608/(Set : B)/ Il P.T.O.
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6. U% -U TEER & Y497 T 1
(A) G HH H GHEIG & S @
(B) I GERRI & GHE 8 S o
(C) GXI TSR & FH AN & EIT & S @
(D) 7 @ TEEN MR T & FH FH GO B @
On the admission of a new partner :
(A) Old firm is dissolved
(B) Old partnership is dissolved
(C) Both old partnership and firm are dissolved
(D) Neither partnership nor firm is dissolved
7. TG 2 1% U A AW dled ol W OH 1/4 ow W AEER SR TS
A R H 3/4 W A T 1/4 W QI FIA 81 T I BT 1
A) 2:1:1
(B) 23:13:12
C) 3:1:1
(D) 13:23:12

'A' and 'B' share profits in the ratio of 2 : 1. 'C' is admitted with 1/4 share in
profit. 'C' acquires 3/4 of his share from 'A" and 1/4 of his share from 'B'. The
new ratio will be :

A 2:1:1
B) 23:13:12
G 3:1:1
(D) 13:23:12

5608/(Set : B)/ I
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8. R AT UEER ot e @ wnfy @ ufyr ke # A R, O 3@ W A AT H{WA
(A) T @ F
(B) ¥ WERER & O @ #
(C) Fs @ H
(D) T WRER & T @ &

When a new partner brings his share of goodwill in cash, the amount is
debited to :

(A) Goodwill A/c
(B) Capital A/c of new partner
(C) Cash A/c

(D) Capital A/c of old partners

9. [l HERER &l Ig Y W Iqhl & U TR fhaes @1 § wise &l s ? 1
() aF R B O d
(B) ¥ wEE F N @ &
(C) I8 IUUEHN & @1d |
(D) &R & G @d
On the death of a partner, the amount due to him will be credited to :
(A) All partner's Capital Accounts
(B) Remaining Partners Capital Accounts
(C) His Executor's Account

(D) Governments' Revenue Account

5608/(Set : B)/ Il P.T.O.
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10. ‘@, ‘S qur G gPRR ¥ S 1/4 : 3/10 : 9/20 F UG F QW dfed ¥, W B

SR T&OT W AT U B 1
(A) 6:5 B) 5:6
(C) 4:3 (D) 4:10

'A', 'B' and 'C' are partners sharing profits in the ratio of 1/4 : 3/10 : 9/20.
The new ratio on the retirement of 'C' will be :

(A) 6:5 (B) 5:6
(€C) 4:3 (D) 4:10
11. ¥ERR & = O & 99 8 8 1
(A) Sfe 9 (B) #iee A9
(C) ST JFrerar hise AW (D)  Sfae 7 hisT W
Balance of partner's current accounts are :
(A) Debit Balance (B) Credit Balance
(C) Debit or Credit Balance (D) Neither Debit nor Credit balances
12. % % [0 I | & & ¢ 1
() T g B) i it
(C) @i (D) o™

For the firm interest on capital is :
(A) Capital payment (B) Capital Receipt

(C) Loss (D) Income

5608/(Set : B)/ I

Downloaded from cclchapter.com



(7) 5608/(Set : B)
13. 01-01-2019 % TH HEHER F HH & 1,00,000 X &H F°1 R ¥6EG & A9@ o

31-03-2019 H IgH F YT &N BT : 1
(A) g (B) % 1,500
(C) 3,000 (D) 6,000

On 01-01-2019, a partner advanced a loan of ¥ 1,00,000 to the firm. In the
absence of agreement, interest on loan on 31-03-2019 will be :

(A) I NIL B) ¥ 1,500
(C) 3,000 (D) ¥6,000

14. IR H3 HHERX UO% WE B UH AR Uh FiREd W e & 8, @ e @
AR W .o Al 1 A Al STl 1
(A) 6 B) 6%
(C) 5% (D) 12
If a fixed amount is withdrawn by a partner on the first day of every month,
interest on the total amount is charged for ......... months.
(A) 6 (B) 6%
(C) 5% (D) 12

15. ‘T 1 G AW e H 3 : 5 F dled g¢ T B A GEER &1 1 8B, 2019  § @
B I T STU 7 dfed W T8Ad gU A8 e & uRadd & BRel, ‘T H A

TR ST 1T 1 fREd T B8R ¢ 1
(4) Fﬂ‘qqﬁrg (B) aﬂwﬂﬁr%

3 1
(© @ (D) @ -

'A' and 'B' were partners in a firm sharing profits or losses in the ratio of 3 : 5.
With effect from 1st April, 2019 they agreed to share profits or losses equally.
Due to change in profit sharing ratio, A's gain or sacrifice be :

(A) Gain > (B) Gain -
8 8
(C) Sacrifice % (D) Sacrifice é
5608/(Set : B)/ Il P.T.O.
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16. TN TH ........... R B

(A) FFH (B) =g

(C) IeE™ (D) o

Goodwill is a .......... asset

(A) Fictitious (B) Current

(C) Wasting (D) Intangible

{1 -9
PART - B
(® @ T i e & )
(Company Accounts & Analysis of Financial Statements)

17. SEN FEA D .o, g &l

(A) A (B) w@ril

(C) WX (D) IEF T q Fi5 T

Shareholders are the ........... of the company.

(A) Customers (B) Owners

(C) Creditors (D) None of these
18. TH U & HEEl B & Bl ¢ -

(a) i (B) i

() fex (D) wRadAsi

The liability of members in a company :

(A) Limited (B) Unlimited

(C) Stable (D) Fluctuating

5608/(Set : B)/ I
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19. TF ol H7 § qeedl H SAfeebas S 2l o 1
A) 7 (B) 200
(C) 20 (D) e dM &
Maximum number of members in a Private Company is :
A) 7 (B) 200
(C) 20 (D) No limit
20. T FA H QEIUGR e ST B 8 1
(A) T H B) Tt &
(C) IS I (D) |H

Preference share of a Company represents :

(A) Loan (B) Capital

(C) Dividend (D) Assets
21. USigd Yol AT 1 AT B B 1

(A) @fer gl

(B) friftvr ol

(C) i Tei

(D) ST F & F3 Tl

Registered capital is the part of :

(A) Reserve Capital

(B) Issued Capital

(C) Subscribed Capital

(D) None of the above

5608/(Set : B)/ Il P.T.O.
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22. 3 & Wity # stfedy g Bl R

(A)
(C)

5%
Hig e T

(B)
(D)

Maximum limit of premium on shares is :

(A)
(C)

5%

No limit

23. FONH & e B

(A)

(€)

AATHIST

AT g ST a1

Debentureholder receives :

(A)

(€)

Dividend

Both Dividend and Interest

24. S U dvs FEFHT BRY S S

(A)
(B)
(C)

(D)

T T & T

74 fEiRd = ¥ ®
fT gd MeiRg & | W
S | H HiE TE

Zero Coupon Bonds are issued :

(A)
(B)
(C)

(D)

5608/(Set :

At zero interest rate
Specified rate of interest
Without specified rate of interest

None of the above

B)/ I

(B)
(D)

(B)

(D)

(B)

(D)

5608/(Set :

10%
100%

10%
100%

=T
g

Interest

Bonus

Downloaded from cclchapter.com

B)



(11) 5608/(Set : B)

25. RO B TEEE Tdd & w9 7 MR A W DE-91 G biee 6T S © ? 1
(A) OO G
(B) % T @

(C) HI9H &iiRd @rar

(D) kU9 I Gl

On issue of debentures as collateral security, which account is credited ?
(A) Debenture Account

(B) Bank Loan Account

(C) Debenture Holding Account

(D) Debenture Suspense Account

26. WI § RO B WCE B d A Bl SKIART (bl ST © 1
(A) FHH e |
(B) wrH-gI feeer §
(C) Uit de A
(D) kOIS & @1d |

Profit on cancellation of own debentures is transferred to :
(A) General Reserve

(B) Statement of Profit & Loss

(C) Capital Reserve

(D) Debenture Account

5608/(Set : B)/ Il P.T.O.
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27.

28.

29.

(12) 5608/(Set : B)

e M R @ & dga sAe i © 1
(A) e A

(B) ®feT AW

() 7 & M iR 7 e W

(D) & @ Sfee A hise

Balance of Sinking Fund Investment Account always shows :

(A) Debit Balance

(B) Credit Balance

(C) Neither Debit nor Credit Balance

(D) Either Debit or Credit Balance

Foge i & @ ® 1
(A)  FHfRT (B) @i
(C) =3 (D) ¥

Loss on issue of Debentures is :

(A) Asset (B) Liability
(C) Expenses (D) Income

frt & @ form ot 1 Rafty faamer & “ofsr T i & ofria 8 R@mr s 8 7 1
(A) Rl o (B) it oot

(C) ot st (D) @i goit

Which of the following is not shown under the heading 'Share Capital' in a
Balance Sheet ?

(A) Subscribed Capital (B) Issued Capital

(C) Reserve Capital (D) Authorised Capital

5608/(Set : B)/ I
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30. T% H & fage # ‘ofwr GO ofie & orria daq oF # gl 9w © 1
() ST it (B) wiffd aier Oofr
(C) Frif sfsr Gof (D) oTRfer sfer it

In the Balance Sheet of a company, under the heading 'Share Capital' at the
last is shown :

(A) Authorised Capital (B) Subscribed Share Capital
(C) Issued Share Capital (D) Reserve Share Capital
T -9
PART - C
(Fgeliga aEie)

(Computerized Accounting)

17. fr=ifciaa fafal & @ © 99 § 397 & 9 & [T SR T8l f6ar S |l & ¢ 1

(A) T AR ol S (B) ¥ & T&FT
(C) Esc Fsil &M (D) ST # | HI5 el
Which of the following methods cannot be used to enter data in a cell ?
(A) Pressing an arrow key (B) Pressing the Tab key
(C) Pressing the Esc key (D) None of the above
18. Fslie N & Fr=foiead # @ HH-a1 Th gl #ed el § 7 1

(A) THYH AT B (B) i H HMPRT B
(C) L AN 8 (D) ahsiic & AL
Which of the following is not a basic step in creating a worksheet ?
(A) Save workbook (B) Modify the worksheet
(C) Enter text and data (D) Copy the worksheet

5608/(Set : B)/ I P.T.O.
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19.

20.

21.

22.

23.

24.

(14) 5608/(Set : B)

qell # @ 1§ RwultEl B wed § 1

A) T feq (B) #« feu

(C) a9 feu (D) M fey

Comments put in cells are called :

(A) Smart tip (B) Cell tip

(C) Web tip (D) Soft tip

T G & ST F& THIEH O B ST Fhell © 1

(A) HFH G (B) Ul G

(C) @ g (D) Sifes g

Multiple calculations can be made in a single formula using :

(A) Standard formula (B) Array formula

(C) Smart formula (D) Complex formula

BRWIGH B bl © ¢ 1

(A) WS (B) ZET &y

) f= (D) ST Tl

Hyperlinks can be :

(A) Text (B) Drawing objects

(C) Pictures (D) All of the above

RAgFe 37 99 Higd E. F. Codd ERT &4/™1 4T &I /3T 1

The relational database model was created by E. F. Codd. True/False

Sew ¥, 31 Sredfie # dufeq fpar Strar B, Fred dieer ofk #faw 2 Bl W/ 1

In a database, data is stored in Spreadsheets which have rows & columns.
True/False

T STEE § 31 X Red & E GRVEC

A database has data and relationships. True/False

5608/(Set : B)/ I
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25. T% 3¢9 & ‘W@-qU’ FHal Il 8, Hiih 599 @a H [qaxer adr 8l T /3 1

A database is called "Self-describing" because it contains a description of itself.

True/False
26. SRS Yol e MER WX foiaa fhd o & 7 1
(A) T STIERET (B) @ uRurfest
(© T (A) M (B) (D) i 7
Accounting packages are developed on the basis of :
(A) Accounting Concept (B) Accounting Conventions
(C) Both (A) and (B) (D) None of the above
27. IFHERET Yoo e THR @ digeddR § 7 1
(A) e e (B) TTHIM TFeadX
(C) FfRie HigedaX (D) aRr®
What type of Software is an accounting package ?
(A) System Software (B) Application Software
(C) Utility Software (D) Basic
28. FFYLlH A@ IOl & b © ¢ 1
(4) B, R, @ w8, qitea, eaa
(B) HiHCaTR, BIEATX, N, ikl
(C) ST, IS, Tichdl, Igagd, HSYS
(D) @I, Nisha, TR, HHaaY
The components of computerized accounting system are :
(A) Data, Report, Ledger, Software, Hardware
(B) Software, Hardware, People, Procedure
(C) Data, Coding, Procedure, Objective, Output
(D) People, Procedure, Hardware, Software
5608/(Set : B)/ I P.T.O.
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29. M FH T d qHd S & FNHCT § 8
(A) TERET, OO ofR el
(B) Yo, T, daia, o ok =
(C) Twf, e, o AR 2
(D) of, 3TaIE, o iR =™
Grouping of Accounts means the classification of data from :

(A) Assets, Capital and Liabilities

(B) Assets, Capital, Liabilities, Revenue & Expenses
(C) Assets, Equity, Revenue & Expenses

(D) Capital, Liabilities, Revenues & Expenses

30. fqwd &1 gq :
(A) UHEE Rreiie (B) =e diffee
(C) e % (D) 2 dfee
Choose the odd one out :
(A) Password Security (B) Data Audit
(C) Data Bank (D) Data Vault

5608/(Set : B)/ I
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CLASS : 12th (Sr. Secondary) Code No. 5608
Series : SS-April/2022
Roll No. SET : C

AT

ACCOUNTANCY
HT-1
PART -1
(sTrts mee)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

g : 21 g¢] [ g% : 60 (-1 : 30, AFHII : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

gE-U A WA | faia B A (STets) T AR (FRgETS)| e @ aN An @ g
% IW B ATH II-Ydl 7 G 1 IH-0 & A1 GOE AN BN I ed SuX-gRas
3 a Rar stom @ AF-IL & [0 el @ O qe H aHd Rar Som srig wder s
B ¥ O geT [@ GOt Bl A1 9S-0e R Stem

-1 & 999-09 § A 19 (5 + 7 + 7) U T 911 & O9-G 7 F 44 (16 + 14 + 14)
s

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 19 (5 + 7 + 7) and of Part-II are
44 (16 + 14 + 14).

o PY T F A B G F 59 FoT9H H PR g 8 7o 497 19 (5 + T +7) &

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 19 (S + 7 + 7) questions.

5608/(Set : C)/ | P.T.O.
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T97-Y5 7 qle &1 @ AT 79 T4 #S TR T @ B G F-YEIH % FI-IT T [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgar T To FIT-UT T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 Gvead F o [ 9T U 7 T8l 8, qOer % IYUT 59
G § 25 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 7397 -
() T8 g97-97 T 9 F e & -
G — O : STTHFE] T TF FEET] Gy
T - § : A @7 9T AT [l E Ry
9T - - FGRHT AGHT]
(i) T - & oifard & wdersf o smT @ YT - F T T - T F @ BE @ GT
&T &Y/
(iii) TH G97 BT BT 81 OB 9T F 7F IqH GH7 [T 7T &
(iv) 597 &1 5 # 3<% g FTa= &

5608/(Set : C)/ |
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General Instructions :
(i)  This question paper is divided into three Parts :
Part — A : Not for Profit Organizations & Partnership Accounts.
Part - B: Company Accounts & Analysis of Financial Statements.
Part — C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Internal choice is available in Question No. 5.

AT - &
PART - A
(TR HeEY Ud EEEr @)

(Not for Profit Organizations & Partnership Accounts)

1. 1-4-2018 & UF BH & THREN 75,000 To & {EH 5,000 Fo IHs & iy &
R % Yol @A # AT 60,000 Fo © X N Red &1 Tod R W 2 o &
A X 10% o1 1 &l @i fed 4 ast & g &9 & SR W 24,000 Fo Tedithd
P T FH H AT AN AT B P 2
On 1-4-2018 firm had assets of ¥ 75,000 including cash ¥ 5,000. The partners
Capital Account showed a balance of ¥ 60,000 and reserve constituted the rest.
Normal rate of return is 10% and the goodwill of the firm is valued at ¥ 24,000
at 4 years purchase of superprofits, find the average profits of the firm.

2. ‘T T 9 ‘o GO @t § oY qanu 2
Distinguish between 'Fixed Capital' and 'Fluctuating Capital' Accounts.

3. ®WEH &9 T a¥ 2011-12 F 80,000 o TR % W byl o7 AW et s ¥
(i) 1-4-2011 & FHEAT =T 5,200 ol
(i) 1-4-2011 & AW 9 F=1 2,400 Fol
(iii) 31-3-2012 H FHEAT =T 4,800 ol
(iv) 31-3-2012 F AF I =T 700 ol
ANMG-g @A | = &l fhal T Hise B S ? 2

5608/(Set : C) /| P.T.O.
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Sports Club had received ¥ 80,000 as subscription in 2011-12. Further
information is :
(i) Subscription due but not received on 1-4-2011 ¥ 5,200.
(ii) Subscription received in advance on 1-4-2011 ¥ 2,400.
(iii) Subscription due but not received on 31-3-2012 ¥ 4,800.
(iv) Subscription received in advance on 31-3-2012 ¥ 700.
What amount should be credited to Income and Expenditure Account as

subscription ?

4. G g O @4 9 T 9 =9 @A H B3 g7 i 2

Give any four points of distinction between Receipts and Payment Account

and Income and Expenditure Account.

5. ‘&7 g ‘T GERR o9 & 3: 17 dieq & e Rafy o 31-3-18 &1 77 w1

IR %o REHRT %o
SRELS 4,15,000 | ¥ § g 2,65,000
Red o 40,000 | 97 fort 30,000
TSl @t ¢ IR 1,60,000
‘37’ 3,00,000 | €% 2,00,000
T 1,60,000 | g 10,000
g Td S| 2,50,000
9,15,000 9,15,000

1 30, 2018 F ‘|’ H 1/4 9N & T G@Ed § 9 gai W sag & mr -

(@) ‘@ F% 1,00,000 T&ft T T 50,000 @A & & F M b, ed & =i @
1/2 9N 97 9§’ g0 Wbt fovam o ®

(b) ith T HRLER B 10% q FH a1 TN G 5% TadM g R0 & [T SR 9 >
foel O 9 T

() M & 20% & TF T &I

(d) % 10,000 & TF TRE & Sk &fd & AW & ¢ &= =@ m

(€) T 6,500 F TH TT Sk AER B I 21 g8 |E A3RN Sl o SHe @iie
ERIECI

AT G T9RC 9 Refd feaver TR 6

5608/(Set : C)/ |
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'A' and 'B' share profits in 3 : 1. Their Balance Sheet as at March 31, 2018 was

as follows :

Liabilities Rs. Assets Rs.
Creditors 4,15,000 | Cash at Bank 2,65,000
Reserve Fund 40,000 | Bills Receivable 30,000
Capital Account : Debtors 1,60,000

‘A 3,00,000 | Stock 2,00,000
‘B’ 1,60,000 | Fixtures 10,000
Land and Building 2,50,000

9,15,000 9,15,000

On April 1, 2018 'C' was admitted into partnership for 1/4 share on the

following terms :

(a) 'C' pays? 1,00,000 as his capital and ¥ 50,000 for Goodwill. Half of which
is to be withdrawn by 'A' and 'B'.

(b) Stock and Fixture be reduced by 10% and 5% provision for doubtful debts

be created on Debtors and Bill Receivable.

(c) Value of land and building be increased by 20%.

(d) A liability to the extent of ¥ 10,000 should be created as a claim for

damages.

(e) An item of ¥ 6,500 included in creditors is not likely to be claimed and

should be written back.

Prepare necessary Accounts and prepare Balance Sheet.

5608/(Set : C) /|

P.T.0O.
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T

OR
HERR & AIHY T B W FNREl @ el B e @ B S ® 7
IS Hal Bl Hedl § JTHiH Gl SRy 6

Why are assets and liabilities revalued at the time of retirement of a Partner ?
Prepare Revaluation Account with the help of an example by taking imaginary

figures.
T -9
PART - B
(® E1q e fewitg faERet @ fEge)
(Company Accounts & Analysis of Financial Statements)
6. ‘dfd GO g ‘Yol =’ # #/ Sfax © ? 2

State the differences between 'Reserve Capital' and 'Capital Reserve'.

7. S B O FE P oW UaRedr B A A F FFEE NfEm w & @) St
T el foRdr T, (i) ST 9 A w@m 2

Write journal entries of Share Forfeiture when the shares have been issued at
premium and when the amount of premium : (i) not received, (ii) received.

8. 7 fifo ¥ ®M fio & wwf@l ¥ 25,00,000 X TR T 6,00,000 & f7C H
gfred & &9 F 10,000 THAT ST ¥ 100 WA ST 10% Siftem w frfm R ok
% 11,00,000 ¥% gFE & &N AW [T T SHa Hfafted HX 2
King Ltd. took over assets of ¥ 25,00,000 and liabilities of ¥ 6,00,000 of Queen
Ltd. King Ltd. paid the purchase consideration by issuing 10,000 Equity
Shares of ¥ 100 each at a premium of 10% and I 11,00,000 by Bank Draft.

Pass journal entries.

9. ‘Tl U a ‘HESih HHA F o SR B 7 2
What is the difference between 'Private Company' and 'Public Company' ?

5608/(Set : C)/ |
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10. 'A' ftTo FHI 7 'B' o &I @ T 5,40,000 & THRT T T fHam 'A' [dfo 7 10% orq=
¥ 100 Ui SROT9s & R 20% SiftEw @ fpan e fafiedr & p)

'A' Ltd. Co. purchased assets from 'B' Ltd. Co. for ¥ 5,40,000. 'A' Ltd. issued

10% debenture of ¥ 100 each at 20% premium. Pass journal entries.

11. 'B' o ¥ 635, 9% Fo9s T 500 Ufd oo 4 it few sHa ufaftedr &% 3 ot
F P 5% B W, AR ed 10% Wi w) B an 2

'B' Ltd. issued 635, 9% debentures of ¥ 500 each. Pass necessary journal

entries if debentures were issued at 5% discount, redeemable at 10%

premium.

12. (a)
(b)
(a)
(b)

5608/(Set :

'Y' o § 300 &fgr T 10 Wi Sfer FMC M, T 7 Ufq ST F BT, Teol AT T 2 B
TAE T 8W W & fomm 8 & 100 ofeft & ¢ fow 3 6 ofd ofa o
HY & @ m

g fif ofslt @ St & forg S wfafedt # 2
'Z' ffo 1 600 sl T 10 Wi 3 1 &0, Yeell Aral T 3 i AT H A T B

UM % HROT {6, qE0 A % 2 ufd oS el e HME R e 39 & 200 3
% 8 9 ois Qe &l X 7 9fd ofsr H g PR & Rar mm

g rifia oistt @ o=t & fAg s+ ofaftedt &3 2
'Y' Ltd. forfeited 300 shares of ¥ 10 each, ¥ 7 called up, for non-payment

of Ist call of ¥ 2 per share. Out of these, 100 shares were immediately

re-issued at T 6 per share.
Pass the necessary journal entries for forfeiture and reissue of Shares.

Z Ltd. forfeited 600 shares of ¥ 10 on which Ist call of ¥ 3 per share was
not received, the IInd call of ¥ 2 per share has not yet been called. Out of

these, 200 shares were reissued as X 8 paid up for I 7 per share.

Pass the necessary journal entries for forfeiture and reissue of Shares.

C)/1 P.T.0O.
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qMT -9
PART - C
(Fgeliga i)

(Computerized Accounting)

6. [FRSIHS TGSl 1 & ? 2

What is Referential Integrity ?

7. GUI T U% g A o 2

Write a short note on GUI (Graphical User Interface).

8. MS-Access & 3 3aaqg g 2

Give two components of MS-Access.

9. e H g AT FaEy p)

Give two features of Electronic Spreadsheet.

10. FYSUFA q@iHT § A FT T © 7 2

What do you mean by Computerized Accounting ?

11. FEFA dEieT B & A aas 2

Write two features of Computerized Accounting System.

12. 8 791 8 ? 00 0 & R it gasu 4

What is Query ? Describe the various methods of creating Query.

5608/(Set : C)/ |
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AT
ACCOUNTANCY
HT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FY T B G B G B 59 99707 JRT g% 16 T 797 44 (16 + 14 + 14) &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 44 (16 + 14 + 14) questions.

o gheEreff 7T T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUY 37 @ (@ 98 FrRad &Y I [ geT9F {7 T &l 8, TOEr # IIT 59
G § g 4 @@ w@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 7397 -
(i) T8 Fo7-97 T 9 7 e & -
G — O : STTHE] TeET TF FEaT] Gy
T - § : YA GI7 9T AT [l E Ry

9T - - FGRHT AGHT]

5608/(Set : C)/ Il P.T.O.
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(i) T - oF Sffard & e v F°T & AT - § T AT - T F A FHE T AT

&7 &1/
(iii) GH FIT BT BT 81 JA%F J97 1 9% F &1 @&l IV A Fav-GhRawr 7 kg

General Instructions :

(i)  This question paper is divided into three Parts :

Part - A : Not for Profit Organizations & Partnership Accounts.

Part - B: Company Accounts & Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Each question carries 1 mark. Write the
correct answer in your answer-book.

| - A
PART - A
CRCE e R EC UGN
(Not for Profit Organizations & Partnership Accounts)
1. -9 @ 4 e o 8 % ATl 1
(A) Fad ST T (B) @ad Yo Sl
(C) I ST T ToIT Spfey (D) &E < 78

Income and Expenditure Account record transactions of :
(A) Revenue nature only (B) Capital nature only

(C) Both Revenue and Capital nature (D) None of these

2. WA FAN F [0 @M G B A FOAEA © 1
(A) TR § o AT (B) I
(C) %A Ih (D) Wi a4l
Source of Income for a not-for-profit organization is :
(A) Subscription from members (B) Donation
(C) Entrance fees (D) All of the above

5608/(Set : C)/ I
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3. WERN IR ¢ 1
(A) €T 2§ (B) o 2rar B
(C) =g & e & & (D) wEER sffae g MeiRa & @
Liability of a Partner is :
(A) Limited (B) Unlimited
(C) Determined by Court (D) Determined by Partnership Act

4. WEEN @49 § o9 7 GEER & {6 | &6 e S e 1
(A) 5% dferas (B) 6% My
(C) 12% dfeas (D) & el & s

In the absence of Partnership deed, the interest is allowed on Partner's Capital :

(&) @ 5% p. a. (B) @ 6% p. a.
(C) @ 12%p. a. (D) No interest is allowed
5. YT ciHT @l © 1
(A) drdia® @ (B) @FRE @
(C) S B (D) ¥ @

Revaluation Account is a :

(A) Real Account (B) Personal Account
(C) Nominal Account (D) Asset Account
6. S T AERR ST B R THE A1 8, A 39 HiSe hAT ST 1
(A) I T @n (B) W %A A GRERI & Gon @t §
(C) M wEeR & G @t | (D) @+f wEER & E @t |
5608/(Set : C)/ Il P.T.O.
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(4) 5608/(Set : C)
When a new partner brings goodwill in cash, it is credited to :
(A) His Capital A/c (B) Sacrificing Partners Capital A/c
(C) Old Partners Capital A/c (D) All Partners Capital A/c

7. T q A BN B 4 1 & UM | Sied T GEER o ‘T o f6F & 1/4 F
A o R W 1/2 W F U W B ¢ S [ UF 91 WEER o | & e

BT ? ]
(A) % (B) 1

1 3
(& 10 (D) 10

'A' and 'B' are partners sharing profit and loss in the ratio of 4 : 1. 'A
surrenders 1/4 of his share and 'B' surrenders 1/2 of his share in favour of
'C', a new partner. What will be the 'C's share ?

w2 ® <
© o =
8. 9 7 WEER YA B Hl TG Hl R The H T A, O IH A B ST B ;A
(A) UPe @ H (B) hfrEw @@
(C) ¥ ¥EER & g @ A (D) TN WEER & Eoff @ §
When new partner doesn't bring his share of goodwill in cash, the amount is
debited to :
(A) CashA/c (B) Premium A/c
(C) Current A/c of new partner (D) Capital A/cs of old partners

5608/(Set : C)/ I
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(5) 5608/(Set : C)
9. fhal TEER & STEHIY T8 W CANY H AT [BH FbX [HaT oar & 7 1

(A) Remaining Partner's Capital A/c Dr. (In Gaining Ratio)

To Retiring Partner's Capital A/c
(B) Remaining Partner's Capital A/c Dr. (In New Ratio)

To Retiring Partner's Capital A/c

(C) Goodwill A/c Dr.

To All Partner's Capital A/cs (In Old Ratio)
(D) Goodwill A/c Dr.

To Retiring Partner's Capital A/c (In Old Ratio)

How goodwill is recorded on the retirement of a Partner ?

(A) Remaining Partner's Capital A/c Dr. (In Gaining Ratio)
To Retiring Partner's Capital A/c

(B) Remaining Partner's Capital A/c Dr. (In New Ratio)

To Retiring Partner's Capital A/c

(C) Goodwill A/c Dr.

To All Partner's Capital A/cs (In Old Ratio)
(D) Goodwill A/c Dr.

To Retiring Partner's Capital A/c (In Old Ratio)

10. ‘T, & AR A @ERR S 4 : 2 : 1 % UM H AH-BM H AHON F Bl AW
STIHT TET HIA 31 T M A, ‘W & o F TWE-IR dic Ad o1 791 AH-[oe
T B 1

A) 5:2 (B) 5:3
€) 9:5 (D) 4:2
5608/(Set : C)/ I P.T.O.
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'A', 'B' and 'C' have been sharing profits in the ratio of 4 : 2 : 1. 'C' retires. 'A’
and 'B' take 'C's share equally. New profit sharing ratio will be :

(A) 5:2 B) 5:3
€ 9:5 (D) 4:2

11. %9 & [T ST W &AW © 1
() T g (B) =@
() Yot it (D) oM™
For the firm interest on drawings is :
(A) Capital Payment (B) Expenses
(C) Capital Receipt (D) Income

12. @EEN 09 & J96 § WEER & R0 W &S &g S ¢ 1
(A) 5% aI¥e® H & 9 (B) 6% al¥® @ & 9
(C) 7.5% i & I | (D) 12% a4 &t & 9

In the absence of partnership deed, the allowable rate of interest on partner's
loan account will be :

(A) @ 5% p.a. (B) @ 6% p.a.
(C) @7.5%p.a. (D) @ 12% p.a.

13. HERR # G qREdqeiid 8 W A8 T g o § 7 1
(A) Fa T @ (B) ¥aw =Y ER
(C) T & Jar =g @w (D) ST I ofemar = @

5608/(Set : C)/ I
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Which accounts are opened when the capital are fluctuating ?
(A) Only Capital Accounts

(B) Only Current Accounts
(C) Capital Accounts as well as Current Accounts

(D) Either Capital Accounts or Current Accounts

14. IR P GEER TOF TE B AW Y B v FiReg i emever wxar ®, @ emexer @

B A T oo HIE H AW AT STl &l 1
A) 12 (B) 6%

C) 55 D) 6

If a fixed amount is withdrawn by a partner on the last day of every month,
interest on the total amount is charged for ............... months.

A) 12 (B) 6%

© 55 D) 6

15. ‘T T A F BH A AWe & 2 ;1 7 Sfed 81 1 SWad, 2019 § F @9 @b H
T U A dled H TeRd g WSl e oTgu A URer & HROT Tow B

A I YA @R H1 e Bl ¢ 1
(A) wm‘a’l,w‘a’l (B) W‘a’l,wqﬁr‘a’l
6 6 6 6
¢ 71 171 4 71 ()1
(C) WW@E,WE[E (D) @WGTE,FIT?TWEIE

'A' and 'B' were partners sharing profit and losses in the ratio of 2 : 1. With
effect from 1st January, 2019, they agreed to share profits & losses equally.
Individual partner's gain or sacrifice due to change will be :

(A) Gain by 'A' % , Sacrifice by 'B' % (B) Sacrifice by 'A' é, Gain by 'B' %

. ar 1 . o 1 . a1 : o 1

(C) Gain by 'A 5 Sacrifice by 'B 2 (D) Sacrifice by 'A 5 Gain by 'B 2
5608/(Set : C)/ I P.T.O.
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(8) 5608/(Set : C)
16. TCHM AEERI & g 3 Hiz ff oRadd (ed 9d99 sevd 99 8 S| ® R T

T B BT ISl © A 39 @l Sl & ¢ 1
(A)  FEET B T (B) |RRN F e
(C) wETd Bl gt (D) T & FE o T

Any change in the relationship of existing partners which results in an end of
existing agreement and make a new agreement is called :

(A) Revaluation of Partnership (B) Reconstitution of Partnership
(C) Realization of Partnership (D) None of the above
T -9
PART - B
(e E o R R @ )
(Company Accounts & Analysis of Financial Statements)
17. T e} WHq $hm =l # w81 o @ 1
(A) T T (B) RN &H
(C) H (D) ST Tt
An artificial person created by Law is called :
(A) Sole Tradership (B) Partnership Firm
(C) Company (D) All of the above
18. Al % RS W@l B 8d © 1
(A) TR (B) € Hed
(C) &HaT SR (D) RTG=ER
Who are the real owners of a Company ?
(A) Government (B) Board of Directors
(C) Equity shareholders (D) Debentureholders
19. SR & & | e 2 1
(A) =S (B) HHIIN
(C) <™ (D) SIS

5608/(Set : C)/ I
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20.

21.

22.

23.

(9)

Shareholders receive from the Company :

(A) Interest (B) Commission

(C) Profit (D) Dividend

S R HRO H Qo § o9 I & 99 el S ©

(A) TR B) fafEnm

(C) HuEmd (D) ROTETeT

A person who invests in the capital of a company is called :
(A) Creditor (B) Investor

(C) Shareholder (D) Lender

e Got @ et AW @ it g S ®

(a) ot wE (B) =0 T o

(€) s i (D) I § § B T
Reserve Capital is also known by :

(A) Capital Reserve (B) Called up Capital
(C) Subscribed Capital (D) None of the above
S @R HH H AR B 8, I HEl S ©

(A)  SHerErd (B) HdwTh

(C) vad® (D) iheren

Persons who start a company are called :

(A) Shareholders (B) Directors

(C) Promoters (D) Auditors

T FOTHE SARER B ©

(A) R wrwisT (B) i H feE

(C) 7 H qIfeT AfYdR (D) e X | I

5608/(Set : C)/ I
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(10) 5608/(Set : C)
A debentureholder is entitled to :

(A) Fixed Dividend (B) Share in Profits
(C) Voting rights in a Company (D) Interest at fixed rate

24. FAE & TAO W KOG b qAUT H AE B © 1
(A) T TE (B) T & §
(C) oar sfer Toft & woa (D) e SfeT Eoft & A

On liquidation of a Company, principal amount of debenture is returned :

(A) First of all (B) Last of all
(C) Before equity capital (D) After equity capital
25. Terd gayfd & &9 d e B U seEl ) Rar S e 1
(A) R % Sfhd I W (B) i3 AN el A S
(C) RO & BY &Y eI W (D) RO & Feohel oI T
Interest on debentures issued as collateral security is paid on :
(A) Nominal value of debentures (B) No interest is paid
(C) Face value of debentures (D) Paid up value of debentures
26. FUGE H M FHAT S HRA © 1
(A) @ SRl ERT (B) Gl SR F T HTh
(C) RadH & (D) ST &+ &

Debentures can be redeemed :
(A) By annual drawings (B) By purchase in open market

(C) By conversion (D) By all of the above
5608/(Set : C)/ I
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27. RifET ®og AFERT & <t shiee fhar s ¢ 1

28.

(A) B ferer §
(B) UMM @99 @d #
(C) TifeT wvs fafva @rd
(D) f&feT ®ve @ |

Interest on Sinking Fund Investment will be credited to :
(A) Statement of Profit & Loss

(B) General Reserve Account
(C) Sinking Fund Investment Account

(D) Sinking Fund Account

OGS Qe e @ @ 1
(A) R @

(B) dr&ifash @l

(C) AHHE "l

(D) ST Tt

Premium on redemption of debentures Account is :

(A) Personal Account

(B) Real Account

(C) Nominal Account

(D) All of the above

5608/(Set : C)/ Il P.T.O.
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29. IR T B

(A)
(B)
(€)
(D)

Fed Goil BT AT

ST&T SisT Tof & AT

Ry 1 A

FOA B FACT G AR T Goi F AT

Reserve Capital is a part of :

(A)
(B)
(C)
(D)

Paid up Capital
Forfeited Share Capital
Assets

Capital to be called up only on liquidation of Company

30. TH HHI H Q@B 1w & @

(A) T @ B) Tt &
(C) ¥ H (D) 99
Preference share of a company represents :
(A) Loan (B) Capital
(C) Dividend (D) Assets
T -9
PART - C
(et diw)
(Computerized Accounting)
17, oo, TF TR & S O @R @l fai fadvaret & ave s 2
(A) 3 AR M (B) W
(C) wHdw (D) TERgE
............. is a property that describes various characteristics of an entity.
(A) ER Diagram (B) Column
(C) Relationship (D) Attribute
5608/(Set : C)/ I
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(13) 5608/(Set : C)

18. oo W 91T 2 % 2 HH-A1 397 oy § dufed & olX oo S @ ey
2 1
(A) R &) (B) diioTpd &Y
(C) I=RE &R (D) IR § q H5 78

............. level describes what data is stored in the database and relationship
among the data ?

(A) Physical Level (B) Logical Level

(C) Conceptual Level (D) None of these

19, e, FIq AT FART & 1
(A) 39 g
(B) Sv3 <Hgq
(€) wmEmEE g
(D) faSivar wM & @ e
............. denote derived attributes.
(A) Double ellipse
(B) Dashed ellipse
(C) Squared ellipse

(D) Ellipse with attribute name

20. .ceeeeriiin A I FHoNl Bl 1
() srafE gt (B) I=iEER FEh
(C) ot el (D) IHicaH FHotl

5608/(Set : C)/ Il P.T.0.
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............. is the minimal super key.

(A) Primary Key (B) Candidate Key
(C) Unique Key (D) Alternate Key
21, oo feeh Womol W WM & AT H T B B 1
(a) fewp B (B) WEW HeR
(C) T HFR (D) SWH # § g T
............. manages the allocation of the space on the disk storage.
(A) Disk Manager (B) File Manager
(C) Memory Manager (D) None of the above
22, TR F g & T B GRIEER) 1
Foreign Key can be null. (True/False)
23. HEgUE AST H ST b B FIIR dRh STUGH [SET IR & Tl ol 1
GRIESR)
Using relational model we design conceptual database design. (True/False)
24. TEET § HH § H T &9 8 AAETH ol GRIEER) 1
Tables are required to have at least one column. (True/False)
25. IHEAR ol A B Gl Sl GRIEER) 1
Candidate Key can have a null value. (True/False)
26. TWEIAT ..ooveeenn. % 1T SMEM B =R 1
(A) T B (B) TR
(C) & (D) T & &
A Software must be easy to ............. .
(A) Install (B) Adapt
(C) Understand (D) All of the above

5608/(Set : C)/ I
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27. X IS QHedqX & 71 AN § 7 1
(A) TI-IN eI} ¥ (B) %Y AN & 2
(C) erer & oo g B (D) & & P15 T

What is the advantage of Tailor made Software ?

(A) These are ready-made software (B) Low cost

(C) High secrecy of data (D) None of the above

28. FETIGA @ B N FAT § 7 1
(A) STET &l ®WR HAT
(B) Sl R §aR &
(C) TR @l & Ty
(D) ST Tt
What are the features of Computerized Accounting System ?
(A) Storage of accounting data
(B) Instantly produces different reports
(C) Group of different accounts

(D) All of the above

29. AGHT AT H YA § T & o0 b dwl W e o S ® ? 1
INEESEISIER (B) ST
(C) vEed 1 faeard (D) (A) X (B) =t

What are the factors to be considered while using accounting software ?

(A) Flexibility (B) Adaptability
(C) Interest of Management (D) Both (A) and (B)
5608/(Set : C)/ I P.T.O.

Downloaded from cclchapter.com



(16) 5608/(Set : C)

30. [T 1
(A) T (B) T H TIE
(€) (&) R (B) T (D) T & Fig T
Data is :
(A) Information (B) Collection of facts
(C) Both (A) and (B) (D) None of these

5608/(Set : C)/ I
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CLASS : 12th (Sr. Secondary) Code No. 5608
Series : SS-April/2022
Roll No. SET : D

AT

ACCOUNTANCY
HT-1
PART -1
(sTrts mee)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

g : 21 g¢] [ g% : 60 (-1 : 30, AFHII : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

gE-U A WA | faia B A (STets) T AR (FRgETS)| e @ aN An @ g
% IW B ATH II-Ydl 7 G 1 IH-0 & A1 GOE AN BN I ed SuX-gRas
3 a Rar stom @ AF-IL & [0 el @ O qe H aHd Rar Som srig wder s
B ¥ O geT [@ GOt Bl A1 9S-0e R Stem

-1 & 999-09 § A 19 (5 + 7 + 7) U T 911 & O9-G 7 F 44 (16 + 14 + 14)
s

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 19 (5 + 7 + 7) and of Part-II are
44 (16 + 14 + 14).

o PY T F A B G F 59 FoT9H H PR g 8 7o 497 19 (5 + T +7) &

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 19 (S + 7 + 7) questions.
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(2) 5608/(Set : D)
T97-Y5 7 qle &1 @ AT 79 T4 #S TR T @ B G F-YEIH % FI-IT T [0G)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T[0T @ 7 7 e, JIT B BHH AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FACGaH & & 4 @l g1/ 91 7 851

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SIfaRET @ o e T& A ST sleaEdgar & @ siv frar gav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTgar T To FIT-UT T 9T [ord)

Candidates must write their Roll Number on the question paper.

Gy 497 F AT 37 @ Y@ 98 Gvead F o [ 9T U 7 T8l 8, qOer % IYUT 59
G § 25 4 @ w@hwre T A @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 7397 -
() T8 g97-97 T 9 F e & -
G — O : STTHFE] T TF FEET] Gy
T - § : A @7 9T AT [l E Ry
9T - - FGRHT AGHT]
(i) T - & oifard & wdersf o smT @ YT - F T T - T F @ BE @ GT
&T &Y/
(iii) TH G97 BT BT 81 OB 9T F 7F IqH GH7 [T 7T &
(iv) 597 &1 5 # 3<% g FTa= &
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(3) 5608/(Set : D)
General Instructions :
(i)  This question paper is divided into three Parts :
Part — A : Not for Profit Organizations & Partnership Accounts.
Part - B: Company Accounts & Analysis of Financial Statements.
Part — C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Internal choice is available in Question No. 5.

| -
PART - A
(ST e T HEE @)

(Not for Profit Organizations & Partnership Accounts)

1. Wi a I O g AF 9 59 G § s 7 Hal [y 2

Give any four points of distinction between Receipts and Payment Account
and Income and Expenditure Account.

2. WEH &9 T af 2011-12 F 80,000 Fo TR & W byl 3T GEAM 7 TR ¥
() 1-4-2011 & FHRAT F=T 5,200 Fol
(i) 1-4-2011 & APH 9 F=1 2,400 Fol
(iii) 31-3-2012 H SHAT T<&T 4,800 Fo
(iv) 31-3-2012 F AT I« F=T 700 ol
HAT-FF @A | =< Hl el A HeT & Ta ? 2
Sports Club had received ¥ 80,000 as subscription in 2011-12. Further
information is :
(i) Subscription due but not received on 1-4-2011 ¥ 5,200.
(ii) Subscription received in advance on 1-4-2011 ¥ 2,400.
(iii) Subscription due but not received on 31-3-2012 ¥ 4,800.
(iv) Subscription received in advance on 31-3-2012 ¥ 700.
What amount should be credited to Income and Expenditure Account as

subscription ?

5608/(Set : D) / | P.T.O.
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(4) 5608/(Set : D)
3. ‘W G g ‘o G @mt 7 Sfav qaEy 2

Distinguish between 'Fixed Capital' and 'Fluctuating Capital' Accounts.

4. 1-4-2018 & UH B & GUREATN 75,000 o & REH 5,000 To UHs & W T
TERR & T @ & Q¥ 60,000 Fo & oMY b Rowd & Mo fRar B oo A
AR X 10% ol B9 &l @ fUed 4 auf & o o9 & SR W 24,000 Fo Fedithd
P T FH H AT AN T B P 2

On 1-4-2018 firm had assets of ¥ 75,000 including cash ¥ 5,000. The partners
Capital Account showed a balance of ¥ 60,000 and reserve constituted the rest.
Normal rate of return is 10% and the goodwill of the firm is valued at ¥ 24,000
at 4 years purchase of superprofits, find the average profits of the firm.

5. ‘97 ‘9’ GERR &9 & 3: 17 dfeq § P Rafy fewer 31-3-18 & 7 9@ o

IR %o gRERT o
SREUS 4,15,000 | §% § %% 2,65,000
Red o 40,000 | W fordt 30,000
ISl @ ¢ IR 1,60,000
‘o 3,00,000 | ©f% 2,00,000
i 1,60,000 | g 10,000
9 T 7w 2,50,000
9,15,000 9,15,000

1 3B, 2018 & ‘@ P 1/4 AN B T dEErd & 7 ot 9X e f&ar m

(@) ‘@ % 1,00,000 T&f T T 50,000 @AM & &4 F AN 6o, Fed @ @fa @
1/2 9F 97 9§’ &0 e fean o ®

(b) i g HRGER ® 10% | HH F6aT T 9 5% WEM g R0 & [ 3eR 9 0
fotl 9X SR T

() 9 a 9 20% & qF T B

(d) ¥ 10,000 F TF AR/ & Sk &R & AW & fC BHr @

() ¥ 6,500 % TH HE S AMER H EA B 9 e AF e R IEH @ik
ERURCI

AT @I ST 9 R faawer sH=u 6

5608/(Set : D)/ |
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'A' and 'B' share profits in 3 : 1. Their Balance Sheet as at March 31, 2018 was

as follows :

Liabilities Rs. Assets Rs.
Creditors 4,15,000 | Cash at Bank 2,65,000
Reserve Fund 40,000 | Bills Receivable 30,000
Capital Account : Debtors 1,60,000

‘A 3,00,000 | Stock 2,00,000
‘B’ 1,60,000 | Fixtures 10,000
Land and Building 2,50,000

9,15,000 9,15,000

On April 1, 2018 'C' was admitted into partnership for 1/4 share on the

following terms :

(a) 'C' pays? 1,00,000 as his capital and ¥ 50,000 for Goodwill. Half of which
is to be withdrawn by 'A' and 'B'.

(b) Stock and Fixture be reduced by 10% and 5% provision for doubtful debts

be created on Debtors and Bill Receivable.

(c) Value of land and building be increased by 20%.

(d) A liability to the extent of ¥ 10,000 should be created as a claim for

damages.

(e) An item of ¥ 6,500 included in creditors is not likely to be claimed and

should be written back.

Prepare necessary Accounts and prepare Balance Sheet.

5608/(Set : D) / |
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(6) 5608/(Set : D)

AYAT

OR
HEER & EHN T A W TR @ ARl & OTHAE # A S 8 7
IS Hal Bl Heldl § JTHiHT Gl SRy 6

Why are assets and liabilities revalued at the time of retirement of a Partner ?
Prepare Revaluation Account with the help of an example by taking imaginary

figures.
T -9
PART - B
(@9 @ wd i e & )
(Company Accounts & Analysis of Financial Statements)

6. S B T FA H W Faftedr B AT S Fr RS diftem w oA ) WfEw
T el fopdr @, (i) ST s e w@m 2

Write journal entries of Share Forfeiture when the shares have been issued at
premium and when the amount of premium : (i) not received, (ii) received.

7. &7 o 7 @@ ffo & ¥wi@l T 25,00,000 AR &RE T 6,00,000 & T H4
yfawd & ®1 § 10,000 FHAT ST T 100 Ui AT 10% SHfem @ g o o)
% 11,00,000 ¥% g & BN AW [T T SHa Hared HX 2

King Ltd. took over assets of ¥ 25,00,000 and liabilities of ¥ 6,00,000 of Queen
Ltd. King Ltd. paid the purchase consideration by issuing 10,000 Equity
Shares of ¥ 100 each at a premium of 10% and I 11,00,000 by Bank Draft.

Pass journal entries.
8. ‘Tl Y g ‘AETE H H F R 8 7 2

What is the difference between 'Private Company' and 'Public Company' ?

5608/(Set : D)/ |
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(7) 5608/(Set : D)

9. 'A' fdfo ¥ 4 'B' [ffo HHI A T 5,40,000 & TR &7 HF a1 'A' o ¥ 10% FO1GH

% 100 " o9 & FRE 20% St W fean s sfafter w1 2

'A' Ltd. Co. purchased assets from 'B' Ltd. Co. for ¥ 5,40,000. 'A' Ltd. issued

10% debenture of ¥ 100 each at 20% premium. Pass journal entries.

10. 'B' ffo ¥ 635, 9% FOA ¥ 500 S oo & fife b sa fafted #¢ af swomest

1 T 5% 82 W, AR M 10% HfEed ) B 2 2

'B' Ltd. issued 635, 9% debentures of ¥ 500 each. Pass necessary journal

entries if debentures were issued at 5% discount, redeemable at 10%

premium.

11. @ G 9 i g9’ § @ o) § ? 2

State the differences between 'Reserve Capital' and 'Capital Reserve'.

12. (a) 'Y' o ¥ 300 &fer T 10 9 S FMC T, T 7 Ay A F T, TeA I 2 2 B
TAE T 8W W & fomm 8 & 100 ofeft &1 ¢ foew ¥ 6 sfd ofar o
X T wm
g fife ofsl & St & forg S wfaftedt #3 2

(b) 'Z' ffo § 600 A T 10 Ufey AT T &Y, G&eil T X 3 il AT B PN A B
UM % HRO {6, qE0 AT % 2 Ui oS o1l T AE R e 39 & 200 S
% 8 9 s Qe &l % 7 9 ofsr H g: PRt & Rar
g: Frifa el @ o=t & forg S sfaftear & 2

(@) 'Y' Ltd. forfeited 300 shares of ¥ 10 each, ¥ 7 called up, for non-payment
of Ist call of ¥ 2 per share. Out of these, 100 shares were immediately
re-issued at X 6 per share.

Pass the necessary journal entries for forfeiture and reissue of Shares.

(b) Z Ltd. forfeited 600 shares of ¥ 10 on which Ist call of ¥ 3 per share was
not received, the IInd call of ¥ 2 per share has not yet been called. Out of
these, 200 shares were reissued as X 8 paid up for I 7 per share.

Pass the necessary journal entries for forfeiture and reissue of Shares.
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qMT -9
PART - C
(Fgeliga i)

(Computerized Accounting)

6. GUI W t& dierg e ford 2

Write a short note on GUI (Graphical User Interface).

7. MS-Access & 3 3a99 g 2

Give two components of MS-Access.

8. Tedie & g fIAvad FaEy p)

Give two features of Electronic Spreadsheet.

9. HYHd AGiHT § AU TN THAA & 7 2

What do you mean by Computerized Accounting ?

10. FFHT q@ied B & fadvan JaRy 2

Write two features of Computerized Accounting System.

11. RS TEsdr 1 & ? 2

What is Referential Integrity ?

12. =8 791 ® ? 00 1 & R it gasu 4

What is Query ? Describe the various methods of creating Query.
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CLASS : 12th (Sr. Secondary) Code No. 5608
Series : SS-April/2022
Roll No. SET : D

AT
ACCOUNTANCY
HT - 11
PART - II

(g 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd sl A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FY T B G B G B 59 99707 JRT g% 16 T 797 44 (16 + 14 + 14) &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 44 (16 + 14 + 14) questions.

o gheEreff 7T T To FIT-UH T 9T [or@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUY 37 @ (@ 98 FrRad &Y I [ geT9F {7 T &l 8, TOEr # IIT 59
G § g 4 @@ w@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 7397 -
(i) T8 Fo7-97 T 9 7 e & -
G — O : STTHE] TeET TF FEaT] Gy
T - § : YA GI7 9T AT [l E Ry

9T - - FGRHT AGHT]
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(i) T - oF Sffard & e v F°T & AT - § T AT - T F A FHE T AT

&7 &1/
(iii) GH FIT BT BT 81 JA%F J97 1 9% F &1 @&l IV A Fav-GhRawr 7 kg

General Instructions :

(i)  This question paper is divided into three Parts :

Part - A : Not for Profit Organizations & Partnership Accounts.

Part - B: Company Accounts & Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(i) All questions are to be attempted. Each question carries 1 mark. Write the
correct answer in your answer-book.

| - A
PART - A
(ST HeTE Td EEEI @)
(Not for Profit Organizations & Partnership Accounts)
1. 9 iR M @ & ERid & 6 1
() Sfre 9w (B) wfee AW
(C) oTferRy ar i (D) Uit ffy
Receipts and Payments Account generally shows :
(A) A Debit Balance (B) A Credit Balance
(C) Surplus or Deficit (D) Capital Fund
2. = & @ Fi-a1 Joier i & ¢ 1
(A) STSiE FEE o (B) ™
(C) == (D) =Rt | &=

Which of the following represent Capital Receipt ?
(A) Life Membership Subscription (B) Donation

(C) Subscription (D) Interest on Investment

5608/(Set : D)/ I
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3. TEREN H BH § T Bl © 1
(A) @l (B) Tle &
(C) @l g Toive & (D) UeEH H
The relation of partner with the firm is that of :
(A) An owner (B) An Agent
(C) An owner and an Agent (D) Manager
4. HEEN §0@ S 1
() e B
(B) foRed & arfvemd B
(C) oA & &

(D) ST F & F3 Tl

Forming of Partnership Deed is :
(A) Mandatory

(B) Mandatory in writing

(C) Not mandatory

(D) None of the above

5. W HAJUq - 1
(A) T ST — YT 31T (B) YT STUIT — <7 STUI
(C) U ST — o1 S ST (D) 9 WIS U — I ST
Sacrificing Ratio :
(A) New Ratio — Old Ratio (B) Old Ratio — New Ratio
(C) Old Ratio — Gaining Ratio (D) Gaining Ratio — Old Ratio
5608/(Set : D)/ I P.T.O.
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6. fHHl T4 WEER & wEE’ J | B S Ewd © 1

(A) Fpdl ff TF HEER @ HeEld @

(B) WEERI % SgAT %l Hedld 9

(C) &l QA WHERI H Fqewi q

(D) UM HRER & 2/3 WRERl B HeHld |

A new partner may be admitted into partnership :

(A) with the consent of any one partner

(B) with the consent of majority of partners

(C) with the consent of all old partners

(D) with the consent of 2/3 of old partners

7. ‘TR T AR 3 : 2 F AGUW A O Sied & ‘TS H 1/4 W IH WEER S T

S SO R T qU ‘AR’ § SE-SET AT HICT Bl AT YA BN 1
(A) 9:6:5 B) 19:11:10
(C) 3:3:2 D) 3:2:4

'X'and 'Y' are partners sharing profit in the ratio of 3 : 2. 'Z' was admitted with
1/4 share in profits which he acquire equally from 'X' and 'Y'. The new ratio

will be :
A) 9:6:5 (B) 19:11:10
(C) 3:3:2 (D) 3:2:4
8. IR AT TERR TN Hl hH 63 AT 8, A 9 &l AT - 1
(A) T STYU H (B) JUN N STgU H
(C) T« A § (D) Tt srguma #

5608/(Set : D)/ I
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If the new partner brings his share of goodwill in cash, it will be shared by old
partners in :

(A) Sacrificing Ratio (B) Old profit sharing ratio
(C) New profit sharing ratio (D) In capital ratio
9. HEER & FIHET FET A W T B A fhaeb T @  dise & e ? 1
(A) SR TE HA A dRER B (B) Y TEERI &
(C) ¥ WEER & (D) ST H | Hig TE
On retirement of a partner, goodwill will be credited to the Capital Account of :
(A) Retiring Partner (B) Remaining Partners
(C) All Partners (D) None of the above

10. O, ‘¥ F W 4:2: 1% TJUA 7 @ Sled 5T GEER &1 A o7 & S TeoT B

W T F @ H TSI 3: 18, A A AT ST SR 1
(A) 3:13 (B) 13:3
C) 3:1 (D) 12:5

'A', 'B' and 'C' are partners sharing profit in the ratio of 4 : 2 : 1. If the new
ratio of 'B' and 'C' is 3 : 1 on the retirement of 'A’, then what will be the gaining

ratio ?
(A) 3:13 (B) 13:3
(€ 3:1 (D) 12:5
11. WERE & $f @R 8 W $9-8 @ @ o § 7 1
() Fae POl @ (B) e =g @W
(C) T = Jar = @w (D) ST @ sforar = @
5608/(Set : D/ Il P.T.0.
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Which accounts are opened when the capital are fixed ?
(A) Only Capital Accounts

(B) Only Current Accounts

(C) Capital Accounts as well as Current Accounts

(D) Either Capital Accounts or Current Accounts

12, WEER & GO W & Sfae fmm s : 1
(A) -8B @d H
(B) WT-BIM THENH @ |
(C) =™ @ H
(D) Ui @ 7
Interest on partner's capitals will be credited to :
(A) Profit and Loss Account
(B) Profit and Loss Appropriation Account
(C) Interest Account

(D) Partner's Capital Accounts

13. 1 71, 2019 H TH HEER A B4 & T 50,000 H AR S @ aEed Q@

HE & 31-12-2019 H I AN HAT 1
(A) % 3,000 B) I
(C) 2,500 (D) % 1,800

On 1st March, 2019 a partner introduced in the firm additional capital of
% 50,000. In the absence of partnership deed, on 31st December, 2019 he will
receive interest :

(A) T 3,000 (B) zero

(C) %2,500 (D) 1,800

5608/(Set : D)/ I
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14. R WEERI & ST & O 7 & g3 @1, af e a9 &l el I Sl © 7 1
(&) 1 9E
(B) 3 HE @l
(C) 6HE &l
(D) 12 78 &

If date of drawings of the partner's is not given in the question, interest is
charged for how much time ?

(A) 1 month
(B) 3 months
(C) 6 months

(D) 12 months

15. ‘T T ‘S AE-8 H T dfed &1 1 9B, 2010 ¥ ¥ -8 B 4 : 3 F UM A
dfe T WeAd gU @ faso & uRecE & dRer A A wif ofedr @nt e
B 1

(A) @ R - B) @ -
14 14
4 3
(C) WW; (D) =

'A' and 'B' were partners sharing profits or losses equally. With effect from 1st
April, 2010 they agreed to share profit in the ratio of 4 : 3. Due to change in
profit sharing ratio, B's gain or sacrifice will be :

(A) Gain 1 (B) Sacrifice 1
14 14
(C) Gain 4 (D) Sacrifice 3
7 7
5608/(Set : D)/ I P.T.O.
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16. T% %4 TR H9Q T UBA 9rF g8t & @9 U4 &Y 39 R § ¢ ¥ 12,000; ¥ 13,000;
% 14,000; % 18,000 AR ¥ 2,000 (3F)1 & a¥ & HF % MUK G SN B Ted BN : 1
(A) T 23,600 (B) ¥ 22,000
(C) ¥ 1,10,000 (D) % 1,18,000
The profits earned by a business over the last 5 years are as follows : ¥ 12,000;

% 13,000; % 14,000; X 18,000 and X 2,000 (loss). Based on 2 years purchase
of last 5 years profit, value of goodwill will be :

(A) R 23,600 (B) X 22,000
(C) ¥ 1,10,000 (D) % 1,18,000
il -9
PART - B
(® 9 @ wd i e & )
(Company Accounts & Analysis of Financial Statements)
17. T B B covvnnnnnns BT Bl 1
(A) Yo% I SARdE (B) TR Sffes
(C) g IRma (D) SUUET Tl
A company has ............ .
(A) Separate legal entity (B) Perpetual existence
(C) Limited liability (D) All of the above
18. T HHI Hl (HIOT fRam S @ 1
(A) HEe & e erfafEm g (B) & fAftEw ar
(C) faf e & (D) &&= W
A company is created by :
(A) Special act of Parliament (B) Companies Act
(C) Investors (D) Members
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19. H & Tol HB THEA A O o B, T Fer o g
(A) O (B) ST
(C) &ih (D) 9vs

Capital of a company is divided in units, which is called :

1

(A) Debenture (B) Share
(C) Stock (D) Bond
20. FA1 § Ff¥ed e | ol feeenl R o § ¢ 1
(A)  THAT SATERET I (B) iR el &
(C) FoToANRAT Bl (D) sacd
To whom dividend is given at a fixed rate in a company ?
(A) To Equity Shareholders (B) To Preference Shareholders
(C) To Debentureholders (D) To Promoters
21. dfe ot T @ ART Bl B 1
(A) T (B) T Iot
(©) Yol & (D) T =6l & Gl
Reserve Capital is a part of :
(A) Called up Capital (B) Paid up Capital
(C) Capital Reserve (D) Uncalled Capital

22. FE AUGEH & FPAR FAaH AR Bl RN HA FEOAT B
T¢ 2

(A) 25% (B) 50%
(C) 90% (D) 100%

5608/(Set : D)/ I
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According to Companies Act, Minimum subscription has been fixed at ...........
of the issued amount.

(A) 25% B) 50%
(C) 90% (D) 100%
23. FOEER HE B oo B Bl 1
(A) @rl (B) I
(C) WX (D) ¥adish
Debentureholders are ............ of the Company.
(A) Owners (B) Customers
(C) Creditors (D) Promoters
24. FOH YERIT F 8 1

(A) A & BN H

(B) &HaT SAERAl & faf=T

(C) H=l § Heweh &

(D) & % TR R

Debentures represent the :

(A) Long term borrowings of a Company
(B) Investments of Equity Shareholders
(C) Directors shares in a Company

(D) Short term borrowings of a Company

5608/(Set : D)/ I
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25. FAE & RO H FRIEG AT ST HERT © 1
(A) B B S (B) ¥ <o S &
(C) Her® oy & &7 ¥ (D) SWIH Hi3 A
Debentures of a company can be issued :
(A) For Cash (B) For consideration other than cash
(C) As a collateral security (D) Any of the above

26. FOEI & M T A B BF @A H SR [bAT ST & 7 1
(A) Yot e e (B) UMY T G
(C) FifeT BT B (D) SH-gI foaeer

Profit on redemption of debentures is transferred to which account ?

(A) Capital Reserve Account (B) General Reserve Account
(C) Sinking Fund Account (D) Statement of Profit & Loss
27. T %vs @ & A9 A FERIT HA © 1
() e (B) *fT 9w
(C) T 3f¥e 7 hige qW (D) Sfee a wigT 99

Balance of Sinking Fund Account always shows :
(A) Debit Balance (B) Credit Balance

(C) Neither Debit nor Credit Balance (D) Either Debit or Credit Balance

28. FONH M T NEET ..ooonennll g 2l 1
(A)  FHRT (B) aRra
C) =3 (D) @

5608/(Set : D)/ I P.T.O.
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Premium on redemption of Debentures Account is :
(A) Asset (B) Liability

(C) Expenses (D) Income

29. W= ¥ § #-81 0 GF & ?
() g Goft = Frfr o
(B) ferpa T > Frifi o
(© T T > e o
(D) ST F & F3 T
Which of the following statements is true ?
(A) Authorized Capital = Issued Capital
(B) Authorized Capital > Issued Capital
(C) Paid up Capital > Issued Capital
(D) None of the above
30. TH HFF &l AT Yol B SE BN ©
(A) U Htag o (B) UNE STveH #
(C) Sieaer H (D) T Sfeaer &
Authorised capital of a company is mentioned in :

(A) Memorandum of Association (B) Articles of Association

(C) Prospectus (D) Statement in lieu of prospectus
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AT -9
PART -C
(Feiga i)

(Computerized Accounting)

17. JEHRRET Yoo fhe oegR W fspied fhd o § ? 1
(A) T STERET (B) @ uRurfes
(C) (A) X (B) I (D) ST & #F o &

Accounting Packages are developed on the basis of :

(A) Accounting Concepts (B) Accounting Conventions
(C) Both (A) and (B) (D) None of the above
18. JTHRIET Yool fhe S & HIFEdaX © 7 1
(A) foEw gitedat (B) Uwilhe TR
(C) IR diweaay (D) SR
What type of software is an accounting package ?
(A) System Software (B) Application Software
(C) Utility Software (D) Basic
19. FYHA @l Yol & e & 1

() ST, RUE, @ 92, difea, seaat
(B) TR, BEAAT, I, Sl

(C) a1, HIET, kAT, I3, HRTYT
(D) W, ke, B, WX
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The components of computerized accounting system are :
(A) Data, Report, Ledger, Software, Hardware

(B) Software, Hardware, People, Procedure

(C) Data, Coding, Procedure, Objective, Output

(D) People, Procedure, Hardware, Software

20. TR FH T d TG S B FHCT H B 1
(A) TR, TS oIR aaEl
(B) oM, HafwE, A, o iR =4
(C) T, shEdl, o SR 2
(D) T&H, ITaIRAl, o o @
Grouping of Accounts means the classification of data from :
(A) Assets, Capital and Liabilities
(B) Capital, Assets, Liabilities, Revenue & Expenses
(C) Assets, Equity, Revenue & Expenses

(D) Capital, Liabilities, Revenue & Expenses

21. fqwa & g9 ¢ 1
(A) UHae R (B) 3T offfse
(C) 2T I% (D) 2T e
Choose the odd one out :
(A) Password Security (B) Data Audit
(C) Data Bank (D) Data Vault

22. 3 AV ST JAEEH & Th TR 2 GRIEER .
Data analysis is a tool of data warehouse. (True/False)

5608/(Set : D)/ I
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23. TOEE IMCHT H FAHM TOTA TG Tl & 916 (ded e 3 (Vo)

In phased approach the current system is executed after the proposed system.

(True/False)
24. FAE ITNERA GRAMT ST SR &l (e omaE) 1
Classes are user defined data types. (True/False)
25. Sffeige NG ST 81 & a9 4BkdT WX X Sl R (o omaE) 1
Object Oriented programming emphasizes on procedure rather than on data.
(True/False)
26. Frefoiad fftdl 9 @ o 84 § 3T &9 & & WY WA 78] a1 ST e @ 1
(A) T SR ol TEE (B) <H FHoll & &M
(C) ESC Fsit &M (D) ST § § B el
Which of the following methods can not be used to enter data in a cell ?
(A) Pressing an arrow key (B) Pressing the tab key
(C) Pressing the ESC key (D) None of the above
27. FHSMC T 7 FrAfaRad & & dH-a1 0 IR FEA T8 o ¢ 1
(A) THgH T B (B) dasiie & TMET B
(C) IFe AR 3T s (D) dHSMT B B
Which of the following is not a basic step in creating a worksheet ?
(A) Save workbook (B) Modify the worksheet
(C) Enter text and data (D) Copy the worksheet
28. @l § W . el & FEd © 1
(A) @ feq (B) &« feyq
(C) a9 feu (D) 7 feu
5608/(Set : D)/ I P.T.O.

Downloaded from cclchapter.com



(16) 5608/(Set :

Comments put in cells are called :

(A) Smart tip (B) Cell tip
(C) Web tip (D) Soft tip
29. T% G & ST &b THIH TF H S Fhal  :

(A) Wh T (B) &6l g

(C) @ g (D) Sffest &

Multiple calculations can be made in a single formula using :
(A) Standard formula (B) Array formula
(C) Smart formula (D) Complex formula

30. BRWHH T THhd € :

(A) e (B) ST gL

) = (D) ST Tl
Hyperlink can be :

(A) Text (B) Drawing objects
(C) Pictures (D) All of the above
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